
PROFESSIONAL EXAMINATION BOARD
Group­3 Technical Selection Test 2016

6th April 2016, 09:00 AM
Topic:­ G3_General Knowledge
1)

Question Stimulus :­

General Knowledge

Where is the first Mega Food Park inaugurated in Madhya Pradesh state in the month of February,
2016? / मĀ ঋदॕष रॊĀ म७  फरशरॎ,͙͗͘͝ कख़  ঋथम मॕगॊ  ॐू ड पॊक१  कॊ उद्घॊटन कऻॊँ ॽआ थॊ?

 

Ratlam / रतलॊम

Khandwa / खॊॠडशॊ

Barwani / बरशॊनॎ

Khargone / खगॳनॕ

Correct Answer :­Khargone / खगॳनॕ 

2)

Question Stimulus :­

General Knowledge

How many ‘Gram Panchayats’ are there in Madhya Pradesh? / मĀ ঋदॕष म७ ोकतनॎ ঁॊम पॠचॊयतॕ ऻॖ?



23006 / ͙͚͗͗͝

23012 / ͙͚͙͗͘

24010 / ͙͛͗͗͘

24720 / ͙͙͛͗͞

Correct Answer :­23006 / ͙͚͗͗͝ 

3)

Question Stimulus :­

General Knowledge

Which one among these sites of Madhya Pradesh is NOT declared as a World Heritage Site by
UNESCO? / मĀ ঋदॕष कॕ इन Āथलख़ ॠ म७ ऺॕ ोकऺ Āथल कख़ यॐोनĀख़ ကॊरॊ ोशĀ ोशरॊऺत Āथल कॕ ॺप म७ घख़ोहत नऻॎ ॠ ोकयॊ गयॊ ऻॖ?

Chanderi, Ashoknagar / चĀॕरॎ,अषख़कनगर

Khajuraho Group of Monuments / खॏजरॊऻख़ ॠ Āॊरकख़ ॠ कॊ ऺमॐऻ

Buddhist Monuments, Sanchi / बॏĀॊ Āॊरक,ऺॊँचॎ

Rock Shelters, Bhimbetka / रॗक षॕĀर,भॎमबॕटकॊ

Correct Answer :­Chanderi, Ashoknagar / चĀॕरॎ,अषख़कनगर 

4)

Question Stimulus :­

General Knowledge

Which one is the state dance of Kerala? / इनम७ ऺॕ कग़नऺॊ कॕरल कॊ रॊजकॎय न॑Ā ऻॖ?



Which one is the state dance of Kerala? / इनम७ ऺॕ कग़नऺॊ कॕरल कॊ रॊजकॎय न॑Ā ऻॖ?

Kathakali / कĀकलॎ

Bharatanatyam / भरतनॊĀम

Kunitha / कॏ ोनठॊ

Butta Bommalu / बॏĀॊ बख़Āॊलॏ

Correct Answer :­Kathakali / कĀकलॎ 

5)

Question Stimulus :­

General Knowledge

How many districts are there in Madhya Pradesh? / मĀ ঋदॕष म७ ोकतन७ ोजलॕ ऻ॰?

49 / ͛͠

50 / ͗͜

51 / ͘͜

52 / ͙͜ 

Correct Answer :­51 / ͘͜ 

6)

Question Stimulus :­



General Knowledge

What is the name of the indigenous who built India’s first Nuclear­submarine? /  उऺ Āदॕषॎ कॊ नॊम
बतॊइए ोजऺनॕ भॊरत म७ पऻलॎ परमॊणॏ पनडॏကॎ कॊ ोनमॊ१ण ोकयॊ थॊ?

INS Vagsheer / आईएनऺ शॊगषॎर

INS Arihant / आईएनऺ अौरऻॠत

INS Chakra / आईएनऺ चॿ 

INS Kalvari / आईएनऺ कलशॊरॎ

Correct Answer :­INS Arihant / आईएनऺ अौरऻॠत 

7)

Question Stimulus :­

General Knowledge

Which one of the “Jyotirling’ of Lord Shiva is situated in Ujjain, Madhya Pradesh? /  इनम७ ऺॕ भगशॊन
मऻॊदॕश कॊ कग़न ऺॊ “Āख़ोतोल४ग” उĀॖन,मĀ ঋदॕष म७ ्Āथत ऻॖ?

Trimbakeshwar / আयॠबकॕĀर 

Mahakaleshwar / मऻॊकॊलॕĀर

Bhimashankar / भॎमॊषॠकर 

Omkareshwar / ओमकॊरॕĀर

Correct Answer :­Mahakaleshwar / मऻॊकॊलॕĀर 



8)

Question Stimulus :­

General Knowledge

When is the International Women’s Day observed? / अॠतरॊĀ३ ॎय मोऻलॊ ोदशऺ कब मनॊयॊ जॊतॊ ऻॖ?

7th March / ͞ मॊच१

8th March / ͟ मॊच१

9th March / ͠ मॊच१

19th March / ͘͠ मॊच१

Correct Answer :­8th March / ͟ मॊच१ 

9)

Question Stimulus :­

General Knowledge

How many members represent Madhya Pradesh in Rajya Sabha, the Parliament of India? / भॊरत कॕ
ॠऺऺद,रॊĀऺभॊ म७ मĀ ঋदॕष कॕ ोकतनॕ ऺदĀ ঋोतोनोधက करतॕ ऻ॰?

10 / ͗͘

11 / ͘͘

12 / ͙͘

14 / ͛͘



Correct Answer :­11 / ͘͘ 

10)

Question Stimulus :­

General Knowledge
 How much is the total amount proposed to be given, for a girl’s education under “Ladli Laxmi
Yojana” of Madhya Pradesh? / मĀ ঋदॕष कॎ  “लॊडलॎ ल঵ॎ यख़जनॊ” कॕ  तऻत  एक लीकॎ कॎ ोष঴ॊ कॕ ोलए  कॏ ल ोकतनॎ
रॊोष दॕनॕ कॊ ঋĀॊश रखॊ  गयॊ ऻॖ?

 

58,000 / ͜͟,͗͗͗

1,08,000 / ͘,͗͟,͗͗͗

1,18,000 / ͘,͘͟,͗͗͗

1,28,000 / ͘,͙͟,͗͗͗

Correct Answer :­1,18,000 / ͘,͘͟,͗͗͗ 

11)

Question Stimulus :­

General Knowledge

Name the Health Scheme of Madhya Pradesh, that aims to cover the Child Health. / मĀ ঋदॕष कॕ ĀॊĀ
यख़जनॊ कॊ नॊम बतॊश७ ोजऺकॊ उĀॕĀ ोषषॏ ĀॊĀ कॊ आৢॊदन करनॊ ऻॖ.

Defaulter Tracking System / ोडफॊĀर ट३ ॖ ोकॠ ग ঋणॊलॎ

Swavalamban Yojana / Āॊशलॠबन यख़जनॊ 



Prabha Kiran Training Scheme / ঋभॊ ोकरण ঋोष঴ण यख़जनॊ

State Illnesses Fund / रॊĀ अĀĀथतॊ कख़ह

Correct Answer :­Defaulter Tracking System / ोडफॊĀर ट३ ॖ ोकॠ ग ঋणॊलॎ 

12)

Question Stimulus :­

General Knowledge

Kailash Satyarthi, the Nobel Peace Prize winner, 2014 was born in: /  ͙͗͛͘ कॕ नख़बल षॊॠोत पॏरĀॊर
ोशजॕतॊ,कॖलॊष ऺĀॊथ५ कॊ जĀ कऻॊँ ॽआ थॊ

Jhansi / झॊॠऺॎ

Vidisha / ोशोदषॊ

Bhind / ोभॠड

Sagar / ऺॊगर

Correct Answer :­Vidisha / ोशोदषॊ 

13)

Question Stimulus :­

General Knowledge

Which one of the following is NOT a mosquito borne disease? /  इनम७ ऺॕ कग़न मৢर जोनत बॎमॊरॎ नऻॎ ॠ ऻॖ?

Malaria / मलॕौरयॊ



Dengue / ड७गॐ

Chikungunya / ोचकनगॏोनयॊ

Typhoid / टॊइफॊइड

Correct Answer :­Typhoid / टॊइफॊइड 

14)

Question Stimulus :­

General Knowledge

When did the “Citizenship Act” came in existence? / “नॊगौरकतॊ अोधोनयम” अ्Āက म७ कब आयॊ थॊ?

1945 / ͛͘͜͠

1948 / ͛͘͟͠

1952 / ͙͘͜͠

1955 / ͘͜͜͠

Correct Answer :­1955 / ͘͜͜͠ 

15)

Question Stimulus :­

General Knowledge

Where is the “Roop Singh Stadium” situated in Madhya Pradesh? / मĀ ঋदॕष म७ “ॺप ो ॠऺऻ ॿॎडॊ Āथल” कऻॊँ
 ्Āथत  ऻॖ?

Indore / इॠदग़र



Indore / इॠदग़र

Gwalior / ৖ॊोलयर

Bhopal / भख़पॊल

Jabalpur / जबलपॏर

Correct Answer :­Gwalior / ৖ॊोलयर 

Topic:­ G3_General Hindi
1)

Question Stimulus :­

Hindi

नॎचॕ ोलखॕ षĀख़ॠ म७ Āर एशॠ मॊআॊ कॎ ĀोĀ ऺॕ षॏĀ षĀ ऻख़गॊ­

ोनोलĀ

ोनल१Ā

ोनोल१Ā

ोनल५Ā

Correct Answer :­ोनोल१Ā 

2)

Question Stimulus :­

Hindi



‘अĀय’ कॊ  ॠऺोध ोशৢॕद ऻख़गॊ:­

अनॏ + एश

अन् + शय

अनॐ + अय

अनॏ + अय

Correct Answer :­अनॏ + अय 

3)

Question Stimulus :­

Hindi

नॎचॕ एक षĀ ोदयॊ गयॊ ऻॖ। ोदए गए ोशकĀख़ॠ म७ ऺॕ पयॊ१यशॊचॎ षĀ कख़ ोच्Āत कर७­

तख़य

शॊणॎ

शॊयॏ

अो্

जल

Correct Answer :­जल 

4)



Question Stimulus :­

Hindi

ोनĀोल्खत म७ षॏĀ शॊভ कॊ चयन कॎोजए­

उऺॕ जॊनॕ दख़, रख़कख़ मत

रख़कख़ मत, उऺॕ जॊनॕ दख़

मत रख़कख़, उऺॕ जॊनॕ दख़

उऺॕ जॊनॕ ऻॎ दख़, रख़कख़ नऻॎ ॠ

Correct Answer :­रख़कख़ मत, उऺॕ जॊनॕ दख़ 

5)

Question Stimulus :­

Hindi

ोनĀोल्खत षĀख़ॠ म७ ऺॕ ोभĀ षĀ चयन कॎोजए।

अĀर

शĀ

कपीॊ

ोकरण

Correct Answer :­ोकरण 



6)

Question Stimulus :­

Hindi

‘कोश’ कॊ Āॎोलॠग षĀ ऻॖ­

कोशআॎ

कोशोयআॎ

कोशयআॎ

कशोयআॎ

Correct Answer :­कशोयআॎ 

7)

Question Stimulus :­

Hindi

नॎचॕ एक षĀ ोदयॊ गयॊ ऻॖ। ोदए गए ोशकĀख़ॠ म७ ঋĀॏत उपऺग१ Āॊत कॎोजए­

ोशĀॊन

ोशĀ

ोचर

ोश

अन



Correct Answer :­ोश 

8)

Question Stimulus :­

Hindi

ोनĀोल्खत षĀ म७ ऺॕ ऺमॊऺ बतॊनॕ शॊलॕ उोचत ोशकĀ कॊ चयन कॎोजए ­ यथॊष्ঢ

ोကगॏ

बॽ঍ॎोऻ

कम१धॊरय

अကयॎ भॊश

Correct Answer :­अကयॎ भॊश 

9)

Question Stimulus :­

Hindi

‘आोशभॊ१श’ षĀ कॊ ोशलख़म षĀ ऻख़गॊ ­

अनॊभॊश

अभॊश

अनॕकॊभॊश

ोतरख़भॊश



Correct Answer :­ोतरख़भॊश 

10)

Question Stimulus :­

Hindi

‘‘भॊरत दॏद१षॊ’’ नॊटक कॕ लॕखक ऻ॰­

ल঵ॎनॊरॊयण ोम঒

उपॕက नॊथ अĀ

जयषॠकर ঋऺॊद

भॊरतॕĀदॏ  ऻौरĀက

Correct Answer :­भॊरतॕĀदॏ  ऻौरĀက 

11)

Question Stimulus :­

Hindi

ोनĀ मॏऻॊशर७  कॊ ऺऻॎ ोशकĀ चॏन७­ बॊल धॐप म७ ऺफॕद न ऻख़नॊ

बॐुॊ ऻख़नॊ

अऺमय बॊल ऺफॕद ऻख़नॊ

बॽत अनॏभशॎ ऻख़नॊ

बॽत मॐख१ ऻख़नॊ



Correct Answer :­बॽत अनॏभशॎ ऻख़नॊ 

12)

Question Stimulus :­

Hindi

ोनĀोल्खत षĀख़ॠ म७ ऺॕ उपऺग१ कॕ लगॊनॕ ऺॕ बननॕ शॊलॕ ऺऻॎ ोशकĀ चॏन७ ­

ऺत् + जन

ऺĀजन

ऺद्जन

ऺतजन

ऺĀन

Correct Answer :­ऺĀन 

13)

Question Stimulus :­

Hindi

अनॕक षĀख़ॠ कॕ ोलए एक षĀ कॊ चयन कर७­ ोजऺ ोबमॊरॎ कॊ ठॎक ऻख़नॊ ऺĀश न ऻख़ ॠ

अऺॊĀ

ॠऺकĀ

भयॊनक



घॊतक

Correct Answer :­अऺॊĀ 

14)

Question Stimulus :­

Hindi

आषॎ: + शॊद म७  ॠऺोध ऻख़गॎ ­

आषॎरशॊद

आषॎशॊ१द

आोषशॊ१द

आष५शॊद

Correct Answer :­आषॎशॊ१द 

15)

Question Stimulus :­

Hindi

ोनĀोल्खत षĀ कॕ आगॕ चॊर षĀ ोदए गए ऻ॰। इनम७ ऺॕ उोचत ऺमॊनॊथ१क पयॊ१य ोच्Āत कर७­ मख़঴

ोनशॊ१ण

मॐँछ

ঋĀथॊन
Āग१



Āग१

Correct Answer :­ोनशॊ१ण 

Topic:­ G3_General English
1)

Question Stimulus :­

English

Find the odd word out:

Rude, Ungrateful, Insolent, Courteous

Rude

Ungrateful

Insolent

Courteous

Correct Answer :­Courteous 

2)

Question Stimulus :­

English

Find the odd word out:

Arid, Bare, Barren, Moist

Arid



Bare

Barren

Moist

Correct Answer :­Moist 

3)

Question Stimulus :­

English

Fill in the blank.

Yes, he ______ a laptop.

have

do have

has

is having

Correct Answer :­has 

4)

Question Stimulus :­

English

Fill in the blank:



He said, “Shhh! Be quiet! The baby ________”

sleeps

slept

is sleeping

was sleeping

Correct Answer :­is sleeping 

5)

Question Stimulus :­

English

Complete the idiom.

He started teasing me and I realized that he was pulling my _________.

hand

leg

mind

nose

Correct Answer :­leg 

6)

Question Stimulus :­



English

What is the synonym of: benefit

Damage

Loss

Drawback

Aid

Correct Answer :­Aid 

7)

Question Stimulus :­

English

What is the antonym of: capable

Adept

Apt

Unskilled

Deft

Correct Answer :­Unskilled 

8)

Question Stimulus :­



English

Which of the below given words is spelt correctly?

Apparent

Apperent

Aparent

Aparrent

Correct Answer :­Apparent 

9)

Question Stimulus :­

English

Identify the type of the given sentence.

The students wanted to go to a theme park.

Imperative

Interrogative

Declarative

Exclamatory

Correct Answer :­Declarative 

10)



Question Stimulus :­

English

What is the synonym of: assist

Sustain

Obstruct

Oppose

Hinder

Correct Answer :­Sustain 

11)

Question Stimulus :­

English

The ANTONYM of the word ‘FIERCE’ is:

Strong

Violent

Tame

Scrawny

Correct Answer :­Tame 

12)



Question Stimulus :­

English

Identify the type of the given sentence.

I waited for the bus, but it did not come.

Simple

Compound

Complex

Interrogative

Correct Answer :­Compound 

13)

Question Stimulus :­

English

Fill in the blank:

Usually Sam ___________ his wife to work.

drive

drives

is driving

was driving



Correct Answer :­drives 

14)

Question Stimulus :­

English

Identify the type of the given sentence.

Stop complaining and concentrate on your task.

Imperative

Exclamatory

Interrogative

Declarative

Correct Answer :­Imperative 

Topic:­ G3_General Maths
1)

Question Stimulus :­

Maths

A and B has marbles in the ratio of 1 : 3 and B and C has marbles in the ratio of 9 : 1. If they have
altogether 130 marbles with them, than find the number of marbles with A? / A और B कॕ पॊऺ ͘:͚ कॊ

ॠऺगमरमर ऻॖ और B और C कॕ पॊऺ ͠:͘ कॊ  ॠऺगमरमर ऻॖ|अगर उनकॕ पॊऺ कॏ ल ͚͗͘  ॠऺगमरमर ऻख़तॕ ऻॖ तख़ A कॕ पॊऺ ोकतनॕ  ॠऺगमरमर ऻ॰
ोनकॊल७?

10 / ͗͘



30 / ͚͗

90 / ͗͠

13 / ͚͘

Correct Answer :­30 / ͚͗ 

2)

Question Stimulus :­

Maths

5 bells tolls at an interval of 2, 4, 6, 8 and 12 minutes respectively. If all 5 bells tolls together at
10am, then how many times they will toll together from 10am to 12 noon? / घॠोटयख़ ॠ कख़ ॿमष ͙,͛,͝,͟ और
͙͘ कॕ अॠतरॊल पर बजॊयॊ जॊतॊ ऻॖ| अगर ऺभॎ ͜ घॠोटयख़ ॠ कख़ ऺॊथ म७  ͗͘ पॐशॊ१ऻन कख़ बजॊयॊ जॊतॊ ऻॖ,तख़ ͗͘ पॐशॊ१ऻन ऺॕ ͙͘ अपरॊऻĀ तक
ोकतनॎ बॊर ऺॊथ म७ बजॕगॎ?

5 / ͜

6 / ͝

4 / ͛

8 / ͟

Correct Answer :­6 / ͝ 

3)

Question Stimulus :­

Maths



The breadth of a rectangle ABCD is 5/6th of its length. Perimeter of the rectangle ABCD is 1320 cm.
What is the area of rectangle ABCD? / आयत ABCD कॎ लĀॊई उऺकॎ लĀॊई ऺॕ ͜/͝ ऻ॰|आयत ABCD कॎ पौरोध
͚͙͗͘ऺॕ.मॎ ऻॖ|आयत ABCD कॊ ঴ॕআफल ोनकॊल७?

100000 cm2 / ͗͗͗͗͗͘ ऺॕ.मॎ͙

108000 cm2 / ͗͗͗͗͘͟ ऺॕ.मॎ͙

180000 cm2 / ͗͗͗͗͘͟ ऺॕ.मॎ͙ 

118000 cm2 / ͗͗͗͘͘͟ ऺॕ.मॎ͙

Correct Answer :­108000 cm2 / ͗͗͗͗͘͟ ऺॕ.मॎ͙ 

4)

Question Stimulus :­

Maths

ABC is a triangle. The sum of all interior angles of triangle ABC is 180o. The difference between A
and B, and B and C are 30o each. What is the value of A/C? / ABC एक ोআकख़ण ऻॖ| ोআकख़ण ABC कॕ आॠतौरक
ऺभॎ कख़णख़ ॠ कॊ यख़ग ͘͟0͗  ऻॖ। ঋĀॕक ए और बॎ, और बॎ और ऺॎ कॕ बॎच कॊ अॠतर ͚0͗ ऻॖ| ए/ऺॎ कॊ मॊက ভॊ ऻख़गॊ?

1 / ͘

2 / ͙

3 / ͚

2.5 / ͙.͜

Correct Answer :­3 / ͚ 



5)

Question Stimulus :­

Maths

Evaluate: ∫e5logex dx / मॐĀॊॠकन कॎोजयॕ: ∫e͜log
e
x dx

6logx + C / ͝logx + C

e6 + C / e͝ + C

x6/6 + C / x͝/͝ + C      

x5/5 + ex + C / x͜/͜ + ex + C

Correct Answer :­x6/6 + C / x͝/͝ + C       

6)

Question Stimulus :­

Maths

What is 75% of 40% of 25% of 50% of 12000? / ͜͞%कॊ ͛͗%कॊ ͙͜%कॊ ͗͜%कॊ ͙͗͗͗͘ ভॊ ऻॖ?

900 / ͗͗͠

450 / ͛͗͜

225  / ͙͙͜

3600 / ͚͗͗͝



Correct Answer :­450 / ͛͗͜ 

7)

Question Stimulus :­

CANCELLED

Maths

One root of the equation 5x2 + 2x + Q = 2 is reciprocal of another. What is the value of Q2? / एक मॐल
कॊ ऺमॎकरण ͜x͙ + ͙x + Q = ͙ ोकऺॎ अက ऺॕ पॊरĀौरक ऻ॰| Q͙ कॊ मॊन ोनकलॕ?

25 / ͙͜

1 / ͘

49 / ͛͠

4 / ͛

Correct Answer :­49 / ͛͠ 

8)

Question Stimulus :­

Maths

Shyam, a trader marks up his goods by 30% but allows a discount of 10% on the marked up price.
What percent does he gain? / Āॊम,एक ကॊपॊरॎ कॕ ͚͗% ऺॕ ऺॊमॊन पर ोच्Āत करतॊ ऻॖ लॕोकन  उऺ पर ोच्Āत मॐĀ पर
͗͘% कॊ छॐ ट दॕनॕ कॎ अनॏमोत दॕतॊ ऻॖ| लॊभ कॊ ोकतनॊ ঋोतषत ঋॊĀ करतॊ ऻॖ?

20%  / ͙͗%



23% / ͙͚%

17% / ͘͞%

10% / ͗͘%

Correct Answer :­17% / ͘͞% 

9)

Question Stimulus :­

Maths

The position vectors of points P, Q R and S are a, b, (2a + 3b) and (a – 2b) respectively. Which of
the following is the position vector of SQ? / ोबॠदॏ P, Q R और S कॎ शॕঠर ्Āथोत  ॿमष a, b, (͙a + ͚b) और (a
– 2b)ऻॖ| इनम७ ऺॕ SQ कॎ शॕঠर   ्Āथोत ভॊ ऻख़गॎ?

3b – 2a / ͚b – ͙a

2a – 3b / ͙a – ͚b

3b – a /  ͚b – a

a – 3b / a – ͚b

Correct Answer :­3b – a /  ͚b – a 

10)

Question Stimulus :­

Maths

The ratio of walking speed of Anand and Bimal is 3 : 4. The time taken by Anand to cover 4 Kms is
72 minutes. What is the time taken by Bimal to cover the same distance of 4 Kms? / आनॠद और ोबमल



72 minutes. What is the time taken by Bimal to cover the same distance of 4 Kms? / आनॠद और ोबमल
कॎ टऻलनॕ कॎ गोत कॊ अनॏपॊत ͚:͛ ऻॖ| आनॠद ͛ोक.मॎ कॎ दॐ रॎ ͙͞ोमनट म७ तय करतॊ ऻॖ|तख़ ोबमल कख़ ऺमॊन ͛ोक.मॎ कॎ दॐ रॎ तय करनॕ
म७ ोकतनॊ ऺमय लगॕगॊ?

54 minutes / ͛͜ ोमनट

96 minutes / ͠͝ ोमनट

48 minutes / ͛͟ ोमनट

69 minutes / ͝͠ ोमनट

Correct Answer :­54 minutes / ͛͜ ोमनट 

11)

Question Stimulus :­

Maths

₹10,000 invested with a nationalized bank, becomes ₹20,000 in just 11 years at r% rate of simple
interest per annum. Which of the following represents r? / ₹͗͘,͗͗͗ एक रॊĀ३ ॎयक॑त ब॰क कॕ ऺॊथ ोनशॕष करतॊ
ऻॖ,जख़ ͘͘ ऺॊल म७ ₹͙͗,͗͗͗ ঋोत शह१ ऺॊधॊरण Āॊज कॕ r% कॎ दर पर ऻख़गॊ| इऺम७ r ोकऺकख़ दषॊ१तॊ ऻॖ?

8.33% / ͟.͚͚%

9.09% / ͠.͗͠%

9.9% / ͠.͠%

11.11% / ͘͘.͘͘%

Correct Answer :­9.09% / ͠.͗͠% 



12)

Question Stimulus :­

Maths

What is the mode of the following numbers: 10, 21, 10, 12, 21, 10, 21, 21, 21, 12, 13, 21, 12? / इन
अॠकख़ ॠ कॎ ভॊ ঋणॊलॎ ऻॖ: ͗͘,͙͘,͗͘,͙͘,͙͘,͗͘,͙͘,͙͘,͙͘,͙͘,͚͘,͙͘,͙͘?

21 / ͙͘

12 / ͙͘

11 / ͘͘

10 / ͗͘

Correct Answer :­21 / ͙͘ 

13)

Question Stimulus :­

Maths

2 unbiased dices D1 and D2 are rolled and the number appearing on the uppermost face is noted as
S1 and S2 respectively. What is the probability that (S1 + S2) > 10? / दख़ ोनरॊधॊर पॊऺख़ ॠ D͘ और D͙ कख़
लॏुकतॕ ऻ॰ और ऊपर ऺॕ ोदखनॕ शॊलॊ अॠक ॿमष S͘ और S͙ कख़ दषॊ१तॊ ऻॖ| तख़ (S͘+S͙)>͗͘ कॊ अनॏमॊन ভॊ ऻख़गॊ?

5/36 / ͜/͚͝

7/36 / ͞/͚͝

3/34 / ͚/͚͛



1/12 / ͘/͙͘

Correct Answer :­1/12 / ͘/͙͘ 

14)

Question Stimulus :­

Maths

S denotes the sum of two roots and P denotes the product of two roots of the equation 3x2 – 6x + 4
= 0. What is the value of S – P? / S दख़ मॐलख़ ॠ कॕ यख़गख़ ॠ कख़ दषॊ१तॊ ऻॖ और P उĀॊद कॎ दख़ मॐलख़ ॠ कॕ ऺमॎकरण ͚x͙ ­ ͝x + ͛
=0 कख़ दषॊ१तॊ ऻॖ| S­P कॊ मॊन Āॊत कर७?

4/3 / ͛/͚

2 / ͙

2/3 / ͙/͚

3/2  / ͚/͙

Correct Answer :­2/3 / ͙/͚ 

Topic:­ G3_General Reasoning
1)

Question Stimulus :­

Reasoning

Which one word cannot be formed from the letters of the word ‘PRECARIOUS’?
/  ‘ोঋकॅौरयऺ(PRECARIOUS)’ षĀ कॕ शणॵ ऺॕ कग़न ऺॊ षĀ नऻॎ ॠ बन ऺकतॊ ऻॖ?

Copper / कॗपर
Pious / ोपऔऺ 



Pious / ोपऔऺ 

Precious / ঋॕोषयऺ

Care / कॕयर

Correct Answer :­Copper / कॗपर 

2)

Question Stimulus :­

Reasoning

A clock which is accurate shows 08:00 in the morning how many degrees will the hour hand move
when it will show 04:00 in the evening? /  एक घडॎ ोजऺमॕ  ॏऺबऻ कॕ ठॎक ͗͟:͗͗ बजॕ ऻ॰, तख़ इऺकॕ घॠटॕ कॎ  ॏऺई ोकतनॕ
ोडঁॎ पर रऻ७गॎ जब घडॎ म७ षॊम कॕ ͗͛:͗͗ बज७गॕ?

180 degrees / ͗͘͟ ोडঁॎ

240 degrees / ͙͛͗ ोडঁॎ

320 degrees / ͚͙͗ोडঁॎ

270 degrees / ͙͗͞ोडঁॎ

Correct Answer :­240 degrees / ͙͛͗ ोडঁॎ 

3)

Question Stimulus :­

Reasoning

If the second half of the following alphabets is written in the reverse order, which will be the tenth
letter to the left of ninth counting from your right end? / अगर ोनĀॊॠोकत शणॵ कॕ दॏऺरॕ ोऻĀॕ कख़ ोशपरॎत ॿम म७



letter to the left of ninth counting from your right end? / अगर ोनĀॊॠोकत शणॵ कॕ दॏऺरॕ ोऻĀॕ कख़ ोशपरॎत ॿम म७
ोलखॊ जॊयॕ तख़ दॊोऻनॕ छख़र ऺॕ ोगनतॕ  ॽए नग़शॕ शण१ कॕ बॊॠई ओर ͗͘शॊँ शण१ ভॊ ऻख़गॊ?

A B C D E F G H I J K L M N O P Q R S T U V W X Y Z / एबॎऺॎडॎइएफजॎएचआईजॕकॕएलएमएनओपॎভॐआरएऺटॎयॏशॎडĀॐएসशॊईजॕड

I / आई

C / ऺॎ

J / जॕ

H / एच

Correct Answer :­H / एच 

4)

Question Stimulus :­

Reasoning

Which of the following conclusions are most obvious in relation to the statement given below:
/ ोनĀोल्खत म७ ऺॕ कग़न ऺॊ ोनĀह१ नॎचॕ ोदए गए कथन कख़ ऺबऺॕ Āॊदॊ ĀĀ करतॊ ऻॖ?

Statement: / कथन: Vehicular source contributes 60% to the total pollution level of Delhi, as informed
in the Rajya Sabha today. रॊĀ ऺभॊ म७ दॎ गयॎ जॊनकॊरॎ कॕ अनॏऺॊर ोदĀॎ कॕ कॏ ल ঋदॐ हण Āर  म७ शॊऻनख़ ॠ कॊ यख़गदॊन ͗͝ %
ऻॖ|

Conclusion: / ोनĀह१:

     I.  The court has ordered that the main source of pollution should be identified. / क. ကॊयलय नॕ
ঋदॐ हण कॕ मॏূ ঔख़तख़ ॠ कॎ पऻचॊन करनॕ कॕ आदॕष ोदए ऻ॰|

     II.  The problem of pollution is high in the work list / ख. ঋदॐ हण कॎ ऺमĀॊ कॊय१  ॐऺचॎ म७ उৡ Āथॊन रखतॊ ऻॖ



     III. In the other cities also, vehicular source contributes around the same percentage level of
pollution. / ग. अက षऻरख़ ॠ म७ भॎ शॊऻनख़ ॠ  कॊ ঋदॐ हण कॎ  ঋोतषततॊ म७ यख़गदॊन लगभग बरॊबर ऻॎ ऻॖ|

      IV. This matter was first raised in the Lok Sabha. / घ. इऺ मॏĀॕ कख़ ऺश१ঋथम लख़क ऺभॊ म७ उठॊयॊ गयॊ थॊ|

      V.  Not many towns in India face the problem of pollution. / ङ. भॊरत कॕ अनॕक षऻर ঋदॐ हण कॎ ऺमĀॊ ऺॕ
दॐ र ऻ॰|

Only IV and V / मॊআ (घ) और (ङ)

Only II / मॊআ ख

Only I and III / मॊআ क और ग

Only V / घ. मॊআ ङ

Correct Answer :­Only II / मॊআ ख 

5)

Question Stimulus :­

Reasoning

Pointing to a man in the park, Arun said, “His son is my son’s uncle.” How is the man related to
Arun? /  पॊक१  म७ एक आदमॎ कॎ तरफ इषॊरॊ करकॕ अॹण कऻतॊ ऻॖ, “उऺकॊ बॕटॊ मॕरॕ बॕटॕ कॊ चॊचॊ ऻॖ.” उऺ က्ঢ कॊ अॹण ऺॕ ভॊ

ॠऺबॠध ऻॖ.

Brother / भॊई

Father / ोपतॊ

Uncle / चॊचॊ



Grandfather / दॊदॊ

Correct Answer :­Father / ोपतॊ 

6)

Question Stimulus :­

Reasoning

Amit starts walking in the North direction and travels 5 km then he turns to his left and walks 10
km and he again he turns to his left and walks for 5 km. How far is he from his starting point?
/ अोमत उĀर ोदषॊ कॎ ओर चलनॊ षॏॺ करतॊ ऻॖ और ͜ ोकमॎ चलनॕ कॕ बॊद बॊयॎ ॠ ओर मॏीतॊ ऻॖ और ͗͘ ोकमॎ चलतॊ  ऻॖ. शऻ ोफर
अपनॕ बॊयॕ मॏी कर ͜ ोकमॎ चलतॊ ऻॖ. शऻ अपनॕ ঋॊरॠ ोभक Āथॊन ऺॕ ोकतनॎ दॐ रॎ पर ऻॖ?

5 km / ͜ ोक.मॎ

15 km / ͘͜ ोक.मॎ

10 km / ͗͘ ोक.मॎ

20 km / ͙͗ ोक.मॎ

Correct Answer :­10 km / ͗͘ ोक.मॎ 

7)

Question Stimulus :­

Reasoning

In a certain code language “FIGHT” is written as “#%!@$” and “DEAL” is written as “&<U*”. How
will “FAIL” be written in that code language? /  ोकऺॎ “फॊइट” कख़ ऺॊॠकॕोतक भॊहॊ म७ “#%!@$” ोलखॊ जॊतॊ ऻॖ
और “डॎल” कख़ “&<U*”. ोलखॊ जॊतॊ ऻॖ. उऺॎ ঋकॊर “फॕल” ऺॊॠकॕोतक भॊहॊ म७ कख़ कॖऺॕ ोलख७गॕ?



%*U#

#U%*

#U%#

U#*%

Correct Answer :­#U%* 

8)

Question Stimulus :­

Reasoning

If WATER is coded as XBUFS, how is AIR coded in that code? / अगर शॗटर (WATER) कख़
एসबॎयॐएफएऺ(XBUFS) ोलखॊ  जॊयॕ तख़ एर (AIR) कख़ कॖऺॕ ोलख७गॕ?

BJS / बॎजॕएऺ

UFS / यॏएफएऺ

BUF / बॎयॏएफ

XBJ / एসबॎजॕ

Correct Answer :­BJS / बॎजॕएऺ 

9)

Question Stimulus :­

Reasoning



Sunil was facing east. He turns 100 degrees in the clockwise direction and then 145 degrees in
anti­clockwise direction. Which direction is he facing now? /  ॏऺनॎल पॐरब कॎ ओर दॕख रऻॊ ऻॖ. शऻ ͗͗͘ ोडঁॎ
दो঴णॊशत१ घॐमतॊ ऻॖ और  ोफर ͛͘͜ ोडঁॎ शॊमॊशत१ घॐमतॊ  ऻॖ| अब शऻ ोकऺ ोदषॊ कॊ ऺॊमनॊ कर रऻॊ ऻॖ.

East / पॐरब

North / उĀर

South­west / दो঴ण­पोĀम

North­east / उĀर­पॐश१

Correct Answer :­North­east / उĀर­पॐश१ 

10)

Question Stimulus :­

Reasoning

Which one will replace the question mark in the third figure below? / नॎचॕ ोदए गए तॎऺरॕ ोचআ म७ ঋĀशॊचक
ोचĀ कॕ Āथॊन पर ভॊ आयॕगॊ?

 

18 / ͘͟

12 / ͙͘



9 / ͠

10 / ͗͘

Correct Answer :­12 / ͙͘ 

11)

Question Stimulus :­

Reasoning

Charu is the mother of Atul. She and Quincy are sisters. Quincy’s mother is Zia. If Pravesh is son of
Zia, which one of the following statements is correct? /  चॊॺ अतॏल कॎ मॊँ ऻॖ. शऻ और ्রॠ ऺॎ बऻन७ ऻ॰. ्রॠ ऺॎ कॎ
मॊँ ोजयॊ ऻॖ. अगर ঋशॕष ोजयॊ कॊ पॏআ ऻॖ, तख़ इनमॕ ऺॕ कग़न ऺॊ कथन ऺĀ ऻॖ?

Quincy is the grandmother of Atul / ्রॠ ऺॎ अतॏल कॎ दॊदॎ ऻॖ.

Pravesh is the maternal uncle of Atul / ঋशॕष अतॏल कॊ मॊमॊ ऻॖ.

Pravesh is the brother of Atul / ঋशॕष अतॏल कॊ भॊई ऻॖ.

Charu is sister of Zia / चॊॺ ोजयॊ कॎ बऻन ऻॖ.

Correct Answer :­Pravesh is the maternal uncle of Atul / ঋशॕष अतॏल कॊ मॊमॊ ऻॖ. 

12)

Question Stimulus :­

Reasoning

How many X’s are there in the following series, which are immediately preceded by E and followed
by N? /  ोनĀोल्खत ঒॑ॠखलॊ म७ ोकतनॕ ‘X’ ऻ॰, ोजनकॕ पऻलॕ E आतॊ ऻॖ और ोजऺकॕ बॊद N आतॊ ऻॖ?



P E X R T N E X L R E N X U P E X T A X F E X L N E X / पॎ इ एস आर टॎ अन इ एস ल आर इ अन एস यॏ पॎ इएস टॎ ए एস अफ इ
एস एल एन इ एস

2 / ͙

3 / ͚

1 / ͘

None of these / इनमॕ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­None of these / इनमॕ ऺॕ कख़ई नऻॎ ॠ 

13)

Question Stimulus :­

Reasoning

Which of the alternative figures would correctly fill in the blank space in the following series of
number? / कग़न ऺॊ शॖक्Āक आॠकीॊ  ोनĀोल्खत  ॠऺূॊओॠ कॎ ঒॑ॠखलॊ म७ ौरঢ Āथॊन कख़ ऺऻॎ ढॠग ऺॕ भर ऺकतॊ ऻॖ.

1, 8, 16, 25, 35, 46,... / ͘,͟,͘͝,͙͜,͚͜,͛͝,..........

33 / ͚͚

58 / ͜͟

35 / ͚͜

55 / ͜͜

Correct Answer :­58 / ͜͟ 



14)

Question Stimulus :­

Reasoning

अगर एक घन कॕ छऻख़ ॠ ऺमतल पर ोशोभĀ ोचĀ और ঋतॎक बनॊयॕ(ोबॠदॏ, तॎर, ोআभॏज, ॿॗऺ, श॑त और शग१) जॊयॕ, तख़ कग़न ऺॊ ोचĀ ोबॠदॏ कॕ
ोशपरॎत आयॕगॊ? ोचআ पॎ,ভॐ और आर म७ दषॊ१ए गए घन कॕ ोनĀॊॠोकत ्Āथोतयख़ ॠ  कॎ ऺऻॊयतॊ ऺॕ उĀर दॕ. /  If we draw different
signs and symbols (dot, arrow, triangle, cross, circle and square) over six faces of a cube, which
symbol will fall opposite to the dot? Answer with the help of following positions of the cube shown
in images P, Q and R.

Dot / ोबॠदॏ

Arrow / तॎर 

Triangle / ोআभॏज

Cross / ॿॗऺ

Correct Answer :­Cross / ॿॗऺ 

Topic:­ G3_General Science
1)

Question Stimulus :­

General Science

Japanning is a : / जॊपॊोनॠग ऻॖ एक:



Japanning is a : / जॊपॊोनॠग ऻॖ एक:

Name given to Japanese Information Technology Methods / जॊपॊनॎ  ॐऺचनॊ ঋग़Āख़ोगकॎ ोशोधयख़ ॠ
कख़ ोदयॊ ॽआ नॊम

Type of finishing given, usually based on lacquer / ोदए ॽए ऺमॊपन (पौरĀरण) कॊ ঋकॊर,
ऺॊधॊरणतॡ लॊख (रख़गन) पर आधॊौरत

Kind fishing technology off the coast of Japan / जॊपॊन कॕ तट­ऺमॎपĀथ ऺॊगर म७ ကशॼत
मĀঁऻण ঋग़Āख़ोगकॎ

Kind of Font used to type word documents / शड१ आलॕखख़ॠ (दĀॊशॕजख़ ॠ) कॕ टॠकण म७ ကशॼत मॏঈ­शग१
(फॗက)

Correct Answer :­Type of finishing given, usually based on lacquer / ोदए ॽए ऺमॊपन (पौरĀरण) कॊ ঋकॊर,
ऺॊधॊरणतॡ लॊख (रख़गन) पर आधॊौरत 

2)

Question Stimulus :­

General Science

As per the Wild Life Protection Act, The Indian Wild Ass is placed in which of the following Species
Category ­ : / शက जॎश  ॠऺर঴ण अोधोनयम कॕ अनॏऺॊर, भॊरतॎय शက गद१भ कख़ ोनĀोल्खत म७ ऺॕ कग़न ऺॕ ঋजॊोत शग१ म७ रखॊ गयॊ ऻॖ
­ :

Rare / दॏल१भ

Endangered /  ॠऺकटঁĀ (ोशलॏĀঋॊयॡ)

Endemic / Āथॊनॎय (दॕषज)



Vulnerable / भॕĀ (अोत ॠऺशॕदनषॎल)

Correct Answer :­Endangered /  ॠऺकटঁĀ (ोशलॏĀঋॊयॡ) 

3)

Question Stimulus :­

General Science

Which of the following part of the earth doesn’t allow the S wave to pass through itself? / ोनĀोल्खत
म७ ऺॕ प॑Āॎ कॊ कग़न ऺॊ भॊग एऺ­तरॠगख़ ॠ कख़ Āयॠ ऺॕ ऻख़कर गॏिरन७ नऻॎ ॠ दॕतॊ?

Outer core / बॊĀ ॿख़ी

Mantle / आशरण

Crust / भॐ-पप१टॎ

Inner core / आतॠौरक ॿख़ी

Correct Answer :­Outer core / बॊĀ ॿख़ी 

4)

Question Stimulus :­

General Science

Which of the following is commonly known as the Laughing Gas? / ोनĀोल्खत म७ ऺॕ ोकऺॕ ऺॊधॊरणतॡ ऻॊĀ गॖऺ
(लॊोफॠ ग गॖऺ) कॕ ॺप म७ जॊनॊ जॊतॊ ऻॖ?

Nitrogen Oxide / नॊइट३ ख़जन ऑসॊइड

Dinitrogen Tetroxide / डॊईनॊइट३ ख़जन टॕट३ ख़সॊइड



Nitrous Oxide / नॊइट३ ऺ ऑসॊइड

Methane / मॎथॕन

Correct Answer :­Nitrous Oxide / नॊइट३ ऺ ऑসॊइड 

5)

Question Stimulus :­

General Science

The Scientific phenomena that produces Oxygen is called: / शऻ शॖĀॊोनक घटनॊ (ঋोतभॊऺ) जख़ ऑসॎजन कॊ
उĀॊदन करतॊ, ऻॖ उऺॕ कऻॊ जॊतॊ ऻॖ:

Respiration / Āऺन

Photosynthesis / ঋकॊष­ ॠऺĀॕहण

Fermentation / ोकĀन

Photorespiration / ঋकॊषॎय Āऺन

Correct Answer :­Photosynthesis / ঋकॊष­ ॠऺĀॕहण 

6)

Question Stimulus :­

General Science

The harmonics present in a pipe open at one end is called: / एक छख़र पर खॏलॕ ॽए एक नोलकॊ म७ उप्Āथत
ऺमĀर (अनॏकॠ प) कऻलॊतॊ ऻॖ:

 



Odd Harmonics / ोशहम अनॏकॠ प

Even Harmonics / ऺम अनॏकॠ प

Even and Odd Harmonics / ऺम एशॠ ोशहम अनॏकॠ प

Binary Harmonics / यॏ৒ (ोကचरॎय) अनॏकॠ प

Correct Answer :­Odd Harmonics / ोशहम अनॏकॠ प 

7)

Question Stimulus :­

General Science

Boiling point of Alcohol is comparatively higher than that of the corresponding alkane due to: /
ॏऺरॊऺॊर (अĀख़ऻल) कॊ রथनॊॠक ऺमतॏĀ एĀॕन कॕ রथनॊॠक ऺॕ तॏलनॊĀक ॺप ऺॕ उৡतर (अोधक) ऻख़नॕ कॊ कॊरण ऻॖ:

Intermolecular Hydrogen Bonding / अॠतर­आणोशक ऻॊइड३ ख़जन आबॠध

Intramolecular Hydrogen Bonding / आॠतर­आणोशक ऻॊइड३ ख़जन आबॠध

Volatile Nature / शॊĀषॎल (उदशॊयॎ) ঋक॑ोत

Hyper Molecular Bonding / अोत आणोशक आबॠध

Correct Answer :­Intermolecular Hydrogen Bonding / अॠतर­आणोशक ऻॊइड३ ख़जन आबॠध 

8)

Question Stimulus :­

General Science

Which among the following is an Egg laying Mammal? / ोनĀोल्खत म७ ऺॕ कग़न ऺॊ एक ोडĀख़Āज१क (अॠडॊ दॕनॕ



Which among the following is an Egg laying Mammal? / ोनĀोल्खत म७ ऺॕ कग़न ऺॊ एक ोडĀख़Āज१क (अॠडॊ दॕनॕ
शॊलॊ) Āनपॊयॎ जॎश ऻॖ?

Duck­Billed Platypus / ऻॠऺ­चॠचॏ ကॖोटपऺ

Bat / चमगॊदी (गॊदॏी)

Rose Pelican / गॏलॊब (गॏलॊबॎ) ऻशॊऺॎल

Salamander / ऺॊलॊम॰डर

Correct Answer :­Duck­Billed Platypus / ऻॠऺ­चॠचॏ ကॖोटपऺ 

9)

Question Stimulus :­

General Science

Sting of a Bee is very painful. Which Chemical is present in the sting? / मधॏमঝॎ कॊ डॠक (दॠष) अĀॠत
पॎीॊदॊयक ऻख़तॊ ऻॖ| दॠष म७ कग़न ऺॊ रऺॊयन ऻख़तॊ ऻॖ?

Hydrochloric Acid / ऻॊइड३ ख़মख़ौरक अĀ

Sulfuric Acid / ऺĀĀॐौरक अĀ

Acetic Acid / षॏঢॊĀ (एोऺोटक अĀ)

Methanoic Acid / ोमथॊनॗइक अĀ

Correct Answer :­Methanoic Acid / ोमथॊनॗइक अĀ 

10)



Question Stimulus :­

General Science

Hydrogen Chloride when reacts with Sodium Hydroxide forms Salt and Water. This Reaction is
known as? / जब ऺख़ोडयम ऻॊइड३ ख़সॊइड ऺॕ ऻॊइड३ ख़जन মख़रॊइड ঋोतोॿयॊ करतॊ ऻॖ तख़ लशण एशॠ जल बनॊतॊ ऻॖ| इऺ ঋोतोॿयॊ कॊ
नॊम ऻॖ?

Neutralization / ोनĀभॊशॎकरण (ကॐट३ ॊलॊइिॕषन)

Combination /  ॠऺयख़जन (कॗ्Āनॕषन)

Redox / अपचयख़पचय (रॕडॗস)

Precipitation / अश঴ॕपण (ঋॕोऺोपटॕषन)

Correct Answer :­Neutralization / ोनĀभॊशॎकरण (ကॐट३ ॊलॊइिॕषन) 

11)

Question Stimulus :­

General Science

Vitamin essential for proper functioning of Liver and clotting of blood is: / यक॑त कॕ उोचत ोॿयॊषॎलतॊ एशॠ
रঢ कॕ आलॠचन (ऺपॠदन) ऻॕतॏ अĀॊशĀक ोशटॊोमन ऻॖ:

Vitamin E / ोशटॊोमन ई

Vitamin A / ोशटॊोमन ए

Vitamin B­12 / ोशटॊोमन बॎ­͙͘

Vitamin K / ोशटॊोमन कॕ



Correct Answer :­Vitamin K / ोशटॊोमन कॕ 

12)

Question Stimulus :­

General Science

Diamond that we use in jewellery is / ऻॎरॊ ोजऺकॊ ऻम गऻनख़ ॠ म७ उपयख़ग करतॕ ऻ॰, शऻ ऻॖ

a compound / एक यग़ोगक

a metal / एक धॊतॏ

a mixture of compounds / यग़ोगकख़ ॠ कॊ एक ोम঒ण

an element / एक तĀ

Correct Answer :­an element / एक तĀ 

13)

Question Stimulus :­

General Science

Pasteurization is a process which involves heating of liquids at:­ / पॊĀॏरॎकरण एक ঋोॿयॊ ऻॖ ोजऺमॕ तरलख़ ॠ कॊ
उĀॊपन ऺ्Āोलत ऻॖ:­

120° C ­ 130° C for 60 Minutes / ͙͗͘° ऺॕ. ­ ͚͗͘° ऺॕ. पर ͗͝ ोमनट कॕ ोलए

80° C ­ 90° C for 30 Minutes / ͗͟° ऺॕ. ­ ͗͠° ऺॕ. पर ͚͗ ोमनट कॕ ोलए

60° C ­ 70° C for 30 Minutes / ऺ. ͗͝° ऺॕ. ­ ͗͞° ऺॕ. पर ͚͗ ोमनट कॕ ोलए



70° C – 80 ° C for 60 Minutes / द. ͗͞° ऺॕ. ­ ͗͟° ऺॕ. पर ͗͝ ोमनट कॕ ोलए

Correct Answer :­60° C ­ 70° C for 30 Minutes / ऺ. ͗͝° ऺॕ. ­ ͗͞° ऺॕ. पर ͚͗ ोमनट कॕ ोलए 

14)

Question Stimulus :­

General Science

Which of the following oceanic waves are caused by an earthquake? / ोनĀोल्खत म७ ऺॕ कग़न ऺॊ मऻॊऺॊगरॎय
तरॠग एक भॐकĀ कॕ कॊरण ऻख़तॊ ऻॖ?

Tsunami / ॏऺनॊमॎ

P waves / पॎ तरॠग७

L waves / एल तरॠग७

S waves / एऺ तरॠग७

Correct Answer :­Tsunami / ॏऺनॊमॎ 

Topic:­ G3_General Computer Knowledge
1)

Question Stimulus :­

Computer

What is the main function of the electronic spread sheet? / इलॕঠ३ ॗोनक ोशĀॊर फलक (Āॕड षॎट) कॊ मॏূ कॊय१
ভॊ ऻॖ?

Filtering / षख़धन



Merging / ोशलयन

sorting / प॑थজरण

All of Above / उपरख़ঢ ऺभॎ

Correct Answer :­All of Above / उपरख़ঢ ऺभॎ 

2)

Question Stimulus :­

Computer

Attributes of a file are: / ͘͜. ोकऺॎ ोमोऺल (फॊइल) कॎ ोशषॕहतॊय७ ऻॖ:

Name / नॊम

Location / अशĀथॊन

Type / ঋकॊर

All of the above / उपरख़ঢ ऺभॎ

Correct Answer :­All of the above / उपरख़ঢ ऺभॎ 

3)

Question Stimulus :­

Computer

How many number of transistors are in the 4th generation chip? / ͛थॕ ঋजĀ कॕ ोचप म७ ঋोतरख़धॊĀौरআख़ ॠ
(ट३ ॊॠोजĀर) कॎ  ॠऺূॊ ोकतनॎ ऻख़तॎ ऻॖ?



1000 transistors  / ͗͗͗͘ ঋोतरख़धॊĀौरআ

more than 1000 transistors / ͗͗͗͘ ঋोतरख़धॊĀौरআख़ ॠ ऺॕ अोधक

billion transistors / एक अरब ঋोतरख़धॊĀौरআ

10 transistors / ͗͘ ঋोतरख़धॊĀौरআ

Correct Answer :­more than 1000 transistors / ͗͗͗͘ ঋोतरख़धॊĀौरআख़ ॠ ऺॕ अोधक 

4)

Question Stimulus :­

Computer

List of instructions is called as: / ोनद८षख़ ॠ कॎ  ॐऺचॎ (तॊोलकॊ) कऻलॊतॊ ऻॖ:

Firmware / ঋोॿयॊ यĀ ऺॊमঁॎ

Embedded / अॠतॡĀथॊोपत

Program / ॿमॊदॕष

Software / तĀॊॠष (ऺॗĀशॕयर)

Correct Answer :­Program / ॿमॊदॕष 

5)

Question Stimulus :­

CANCELLED

Computer



Floppy disk in a computer system is defined as a: /  एक  ॠऺगणक पौरतॠআ (कॠ Āॐटर ोऺĀम) म७ नमनॎय चोॿकॊ
(Āॗपॎ ोडĀ) कख़ ऐऺॕ पौरभॊोहत ोकयॊ जॊतॊ ऻॖ:

firmware / ঋोॿयॊ यĀ ऺॊमঁॎ

interpreter / अनॏशॊदक

secondary memory / ोကतॎयक Ā॑ोत

hardware / यॠআॊॠष

Correct Answer :­hardware / यॠআॊॠष 

6)

Question Stimulus :­

Computer

Which of the following first microprocessor is built by Intel corporation? /  ोनĀोल्खत म७ ऺॕ कग़न ऺॊ ঋथम
ॐऺ঵ঋॿमक (मॊइॿख़ঋख़ऺॕऺर) कॊ ोनमॊ१ण इॠटॕल कॊरपख़रॕषन ကॊरॊ ोकयॊ गयॊ?

4004 / ͛͗͗͛ 

8085 / ͗͟͟͜

4089 / ͛͗͟͠

4005 / ͛͗͗͜

Correct Answer :­4004 / ͛͗͗͛  

7)



Question Stimulus :­

Computer

A computer cannot perform any function without: / एक  ॠऺगणक (कॠ Āॐटर) इऺकॕ अभॊश म७ कख़ई कॊय१ नऻॎ ॠ कर
ऺकतॊ:

input device / ोनशॕष यĀ (इनपॏट ोडशॊइऺ)

hardware / यॠআॊॠष (ऻॊड१शॕयर)

chip set / ोचप ऺॕट

program / ॿमॊदॕष (ঋख़ঁॊम)

Correct Answer :­program / ॿमॊदॕष (ঋख़ঁॊम) 

8)

Question Stimulus :­

Computer

Which one of the following produced output by the computer system? /  ोनĀोल्खत म७ ऺॕ ভॊ एक  ॠऺगणक
पौरतॠআ ကॊरॊ उĀॊोदत पौरणॊम ऻॖ?

Text / पॊĀ

Voice / Āर

Graphics / ोचআ

All of the above / उपरख़ঢ ऺभॎ



Correct Answer :­All of the above / उपरख़ঢ ऺभॎ 

9)

Question Stimulus :­

Computer

Which of the following hardware was used by the first generation computers? / ोनĀोल्खत म७ ऺॕ कग़न ऺॕ
यॠআॊॠष कॊ उपयख़ग ঋथम ঋजĀ  ॠऺगणकख़ ॠ ကॊरॊ ोकयॊ गयॊ?

LSI / एलएऺआई 

valves  / कपॊट (शॊĀ)

SSi / एऺएऺआई 

none of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­valves  / कपॊट (शॊĀ) 

10)

Question Stimulus :­

Computer

Number of bytes in 1110 0101 0011 1111 1010 0001: / ͗͘͘͘ ͗͗͘͘ ͗͗͘͘ ͘͘͘͘ ͗͗͘͘ ͗͗͗͘ म७ बॊइट कॎ  ॠऺূॊ ऻॖ:

1 / ͘

2 / ͙

3 / ͚



4 / ͛

Correct Answer :­3 / ͚ 

11)

Question Stimulus :­

Computer

Octal equivalent of 111010 is: /  ͗͗͘͘͘͘ कॊ अĀॊधॊरॎ ऺमक঴ ऻॖ:

84 / ͛͟

70 / ͗͞

72 / ͙͞

None of these / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ 

Correct Answer :­72 / ͙͞ 

12)

Question Stimulus :­

Computer

Half byte is defined as: / अध१ बॊइट कख़ ऐऺॕ पौरभॊोहत ोकयॊ जॊतॊ ऻॖ:

Bit / ोबट

nibble / ोनबल

byte / बॊइट
word / षĀ (शड१)



word / षĀ (शड१)

Correct Answer :­nibble / ोनबल 

13)

Question Stimulus :­

Computer

Hexadecimal digits represented 1 to 9 and A to: / ͞. हख़डष­आधॊरॎ अॠक दषॊ१तॕ थॕ ͘ ऺॕ ͠ एशॠ A ऺॕ:

C  / C

F / F

B / B

D / D

Correct Answer :­F / F 

14)

Question Stimulus :­

Computer

In academic testing, which one of the following is used? /  षॖ঴ोणक परॎ঴ण म७, ोनĀोल्खत म७ ऺॕ ोकऺकॊ उपयख़ग
ऻख़तॊ ऻॖ?

OMR / ओएमआर

MiCR / एमआईऺॎआर



SOP / एऺओपॎ

COR / ऺॎओआर

Correct Answer :­OMR / ओएमआर 

Topic:­ G3_Electrical
1)

Question Stimulus :­

Electrical

Non­Conventional methods of power generation is/are:­ / ोशद्यॏ त उĀॊदन कॕ गॖर­परॠपरॊगत ोशोधयॊँ ऻ॰: ­

Solar power generation / ऺग़र ोशद्यॏ त उĀॊदन

Thermionic converters / तॊपॊयोनक पौरशत१क

Both of the above / उपरख़ঢ दख़नख़ ॠ

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ  

Correct Answer :­Both of the above / उपरख़ঢ दख़नख़ ॠ 

2)

Question Stimulus :­

Electrical

The ratio of lumens in the beam of a projector to the lumens given out by lamps is called the:­ / एक
ঋख़जॕঠर कॕ ोकरण पॏॠज कॕ दॎ्Ā और ल॰प ကॊरॊ ोदए गए दॎ्Ā कॕ अनॏपॊत कख़ ভॊ कऻतॕ ऻॖ:­ 

Beam factor / ोकरणपॏॠज कॊरक



Luminance / ঋदॎ्Ā

Power factor / ोशद्यॏ त कॊरक

None of the above / उपरख़ঢ म७ ऺॕ कख़ई

Correct Answer :­Beam factor / ोकरणपॏॠज कॊरक 

3)

Question Stimulus :­

Electrical

Find the value of  the resistor R1 from the given circuit. / ोदए गए पौरपथ म७ ঋोतरख़धक R1 कॊ मॊन Āॊत कर७

1.5 Ω

1.6 Ω

1.7 Ω

1.8 Ω

Correct Answer :­1.5 Ω 

4)

Question Stimulus :­



Electrical

Which method requires a standard capacitor in terms of which the self­inductance is expressed?
/ कग़न ऺॎ ोशोध कॕ ोलए एक मॊनक  ॠऺधॊौरআ कॎ आशĀकतॊ ऻॖ उऺ मॊमलॕ म७ जब Āঋॕरकက कख़ अोभကঢ ोकयॊ जॊतॊ ऻॖ?

Andreson Bridge / अनड३ ॕऺख़ ॠ ो঍ज

Hays Bridge / ऻॕऺ ो঍ज

Heaviside­Campbell Bridge / ऻॖशॎऺॊइड­कॖĀबॕल ो঍ज

Owens Bridge / ओशॕĀ ो঍ज

Correct Answer :­Andreson Bridge / अनड३ ॕऺख़ ॠ ो঍ज 

5)

Question Stimulus :­

CANCELLED

Electrical

An electric motor with ‘constant output power’ will have a torque­speed characteristic in the form
of a / ‘ोनयत ोशद्यॏ त उĀॊदन' शॊलॕ एक ोशद्यॏ तॎय मख़टर म७ ोनĀॊॠोकत म७ ोकऺकॕ ॺप म७ एक टॊक१  गोत कॎ ोशषॕहतॊ ऻख़गॎ 

straight line through the origin / उĀोĀ कॕ मॊĀम ऺॕ ऺॎधॎ रॕखॊ 

straight line parallel to the speed axis / गोत अ঴ कॕ ऺमॊनॊॠतर ऺॎधॎ रॕखॊ

circle about the origin / उĀोĀ कॕ बॊरॕ म७ श॑Ā

rectangular hyperbola / आयतॊकॊर अोतपरशलय

Correct Answer :­straight line parallel to the speed axis / गोत अ঴ कॕ ऺमॊनॊॠतर ऺॎधॎ रॕखॊ 



6)

Question Stimulus :­

Electrical

The phenomenon of rise in voltage at the receiving end of the open circuited or lightly loaded line is
called the:­ / खॏलॕ पौरपथ यॊ ऻĀॕ ढॠग ऺॕ भरॎ ॽई रॕखॊ कॕ अोभঁॊऻॎ ोऺरॕ पर शख़Āॕज म७ श्॑Ā ऻख़नॕ कॎ पौरघटनॊ कख़ कऻॊ जॊतॊ ऻॖ:
­ 

Ferranti effect  / फॕरॊĀॎ ঋभॊश

Skin effect / उपौरĀर ঋभॊश 

Induction / ঋॕरण

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ 

Correct Answer :­Ferranti effect  / फॕरॊĀॎ ঋभॊश 

7)

Question Stimulus :­

Electrical

Find the impedance if a pure resistance of 150 Ω’s is in series with pure capacitance of 180 μ
farads. / ঋोतबॊधॊ Āॊत कर७  योद 150 Ω कॊ षॏĀ ঋोतरख़ध 180 μ फॖरॊडॕ कॎ धॊौरतॊ कॕ ऺॊथ ঒॑ॠखलॊ म७ ्Āथत ऻॖ। 



149 Ω’s

150 Ω’s

151 Ω’s

152 Ω’s

Correct Answer :­151 Ω’s 

8)

Question Stimulus :­

Electrical

The ___________faults are due to short circuits in conductors. / ___________दख़ह चॊलक म७ लघॏ पौरपथन
कॕ कॊरण ऻख़तॊ ऻॖ।

Shunt / धकॕलनॊ

Series / ঒॑ॠखलॊ

Parallel / ऺमॊनॊॠतर

Fixed / ्Āथर

Correct Answer :­Shunt / धकॕलनॊ 



9)

Question Stimulus :­

Electrical

What happens if the field winding of a running shunt motor suddenly breaks open? / ভॊ ऻख़गॊ योद
पौरचॊोलत ऻख़ रऻॕ पॊĀठश१ कॏॠ डोलत मख़टर कॊ ঴ॕআ कॏॠ डलॎ टॐ ट कर खॏल जॊतॊ ऻॖ? 

Its speed slows down / इऺकॎ गोत धॎमॎ ऻख़ जॊतॎ ऻॖ

Its speed becomes dangerously high / इऺकॎ गोत खतरनॊक ॺप ऺॕ तॎ঑ ऻख़ जॊतॎ ऻॖ 

It gives out sparks / इऺऺॕ ोचॠगॊरॎ ोनकलनॕ लगतॊ ऻॖ       

It stops at once / यऻ तॏरॠत ॺक जॊतॊ ऻॖ 

Correct Answer :­Its speed slows down / इऺकॎ गोत धॎमॎ ऻख़ जॊतॎ ऻॖ 

10)

Question Stimulus :­

Electrical

What is the coercive magnetic force (HC) value of ceramic type of permanent magnetic material?
/ चॎनॎ ोमĀॎ कॕ ঋकॊर कॕ Āथॊयॎ चॏॠबकॎय ऺॊमঁॎ कॕ ोलए आॿॊमक चॏॠबकॎय बल (एचऺॎ) कॊ मॊन ভॊ ऻख़गॊ?

600 kA/m / 600 कॕए/एम 

100 kA/m / 100 कॕए/एम

60 kA/m / 60 कॕए/एम



200 kA/m / 200 कॕए/एम

Correct Answer :­200 kA/m / 200 कॕए/एम 

11)

Question Stimulus :­

Electrical

The speed of a three phase cage­rotor induction motor depends on / एक तॎन फॕज शॊलॕ कॕज­रख़टर (घॐण१न)
उĀॕरण मख़टर कॎ गोत ोकऺ पर ोनभ१र करतॎ ऻॖ? 

frequency of the supply only / कॕशल आपॐोत१ कॎ आश॑ोत पर

number of poles only / कॕशल উॏशख़ ॠ कॎ  ॠऺূॊ पर 

number of poles and frequency of the supply / উॏशख़ ॠ कॎ  ॠऺূॊ तथॊ आपॐोत१ कॎ आश॑ोत पर

input voltage / आगत शख़Āॕज पर 

Correct Answer :­number of poles and frequency of the supply / উॏशख़ ॠ कॎ  ॠऺূॊ तथॊ आपॐोत१ कॎ आश॑ोत पर 

12)

Question Stimulus :­

Electrical

Which of the following information is available on name plate of a motor? / ोनĀोल्खत म७ ऺॕ कग़न­ऺॎ  ॐऺचनॊ
एक मख़टर कॎ नॊम­पोĀकॊ पर उपलĀ ऻॖ?

HP rating / एचपॎ रॕोटॠग        

RPM / आरपॎएम



Frame model / ঌॕम मॗडल                

all the above / उपरख़ঢ ऺभॎ

Correct Answer :­all the above / उपरख़ঢ ऺभॎ 

13)

Question Stimulus :­

Electrical

The disadvantages of machine commutation are:­ / मषॎन पौरशत१न म७ ভॊ अ ॏऺोशधॊ ऻख़तॎ ऻॖ:­

Large machine size / बीॕ आकॊर कॎ मषॎन

Restriction on the speed range / गोत ऺॎमॊ पर ঋोतबॠध

Both of the above /  उपरख़ঢ दख़नख़ ॠ

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ 

Correct Answer :­Both of the above /  उपरख़ঢ दख़नख़ ॠ 

14)

Question Stimulus :­

Electrical

A series motor should not be started on no load. It is because / एक ঒॑ॠखलॊ शॊलॕ मख़टर कख़ ोबनॊ भॊर कॕ चॊलॐ
नऻॎ ॠ ोकयॊ जॊनॊ चॊोऻए।  इऺकॎ शजऻ यऻ ऻॖ

the starting current will be high / चॊलॐ करनॕ शॊलॎ ोशद्यॏ त धॊरॊ उৡ ऻख़गॎ



the speed of the motor will be very high / मख़टर कॎ गोत बॽत अोधक ऻख़गॎ 

excessive sparking will occur at commutator / ोद঩ौरशत१क पर अĀोधक ोचॠगॊरॎ ोनकलनॕ लगॕगॊ  

none of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­the speed of the motor will be very high / मख़टर कॎ गोत बॽत अोधक ऻख़गॎ  

15)

Question Stimulus :­

Electrical

Which of the following motors does not use a centrifugal switch? / ोनĀ म७ ऺॕ कग़न ऺॊ मख़टर एक कॕကॊपऺॊरक
्Āच कॊ उपयख़ग नऻॎ ॠ करतॊ ऻॖ?

single phase induction motor / एकल चरण ঋॕरणमख़टर

capacitor start capacitor run motor /  ॠऺधॊौरআ ऺॕ चॊलॐ ऻख़नॕ शॊलॊ और  ॠऺधॊौरআ ऺॕ पौरचॊोलत ऻख़नॕ शॊलॊ
मख़टर

shaded pole motor  /  छॊयॊॠोकत উॏश मख़टर

none of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­shaded pole motor  /  छॊयॊॠोकत উॏश मख़टर 

16)

Question Stimulus :­

Electrical

A single­phase transformer has a turn ratio of 1:2, and is connected to a purely resistive load as



A single­phase transformer has a turn ratio of 1:2, and is connected to a purely resistive load as
shown in the figure. The magnetizing current drawn is 1A, and the secondary current is 1A. If core
losses and leakage reactances are neglected, the primary current is / एक एकल चरण ट३ ॊॠऺफॊम१र कॊ घॏमॊश
1:2 अनॏपॊत ऻॖ और एक ोशषॏĀ ঋोतरख़धक भॊर ऺॕ जॏीॊ ऻॖ जॖऺॊ ोक ोचআ म७ ोदखॊयॊ गयॊ ऻॖ ्खॠचॎ चॏॠबकॎय धॊरॊ 1 एĀॎयर ऻॖ, और
ोĀोतयक ोशद्यॏ त धॊरॊ 1 एĀॎयर ऻॖ।  योद कख़र कॎ ऻॊोन और ौरऺॊश कॕ ঋोतरख़ध कॎ उपॕ঴ॊ कॎ जॊतॎ ऻ॰, तब ঋॊथोमक ोशद्यॏ त धॊरॊ
ऻख़गॎ|

1.41A / 1.41 एĀॎयर

2A / 2 एĀॎयर

2.24 A / 2.24 एĀॎयर

3 A / 3 एĀॎयर

Correct Answer :­2.24 A / 2.24 एĀॎयर 

17)

Question Stimulus :­

Electrical

Electronic variable frequency drive (VFD) connected to motors / ोशद्यॏ त पौरशत५ आश॑ोĀ ड३ ॊइश (शॎएफडॎ) मख़टर
ऺॕ जॏीॊ रऻतॊ ऻॖ 

provides variable speed with high efficiency / उৡ द঴तॊ कॕ ऺॊथ पौरशत५ गोत ঋदॊन करतॊ ऻॖ 



induces eddy­current in the primary member of the clutch mechanism / মच ঋणॊलॎ कॕ
ঋॊथोमक ऺदĀ म७ भँशर धॊरॊ कख़ ঋॕौरत करतॊ ऻॖ 

is not suitable for passive torque load / ोनĀॎय बल­आघॐण१ भॊर कॕ ोलए उपयॏঢ नऻॎ ॠ ऻॖ 

does not provide variable speed and has low­efficiency / पौरशत५ गोत ঋदॊन नऻॎ ॠ करतॊ ऻॖ और
द঴तॊ ोनĀ ऻॖ 

Correct Answer :­provides variable speed with high efficiency / उৡ द঴तॊ कॕ ऺॊथ पौरशत५ गोत ঋदॊन करतॊ ऻॖ  

18)

Question Stimulus :­

Electrical

An amplifier has a gain of 20 without feedback. If 10% of the output voltage is fed back by means
of a resistance negative feedback circuit, the overall gain would be: / एक एĀलॎफॊयर कॕ पॊऺ ोबनॊ ঋोतोॿयॊ
कॕ 20 लॊभ ऻॖ।  योद उĀॊोदत शख़Āॕज कॕ 10% कख़ एक ঋोतरख़ध नकॊरॊĀक ঋोतोॿयॊ पौरपथ कॕ मॊĀम ऺॕ शॊपऺ भॕजॊ जॊतॊ ऻॖ, तख़
ऺĀॐण१ लॊभ ोकतनॊ ऻख़गॊ:

16.55 

19.80

10.85

6.67

Correct Answer :­6.67 

19)

Question Stimulus :­



Electrical

If a transformer has a hysteresis loss of 10 watts on AC and is changed to DC supply of the same
magnitude, then the hysteresis loss will be / योद एऺॎ पर एक ट३ ॊॠऺफॊम१र कॎ षॖोथĀ ऻॊोन 10 शॊट ऻॖ और जब इऺॕ
डॎऺॎ आपॐोत१ पर Āथॊनॊॠतौरत कर ोदयॊ जॊतॊ ऻॖ, तब षॖोथĀ ऻॊोन ऻख़गॎ 

double / दख़गॏनॊ

half / आधॊ

zero / षॐက

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­zero / षॐက 

20)

Question Stimulus :­

Electrical

The phase angle introduced between the induced emf phasor, E and terminal voltage phasor, U
during the load condition of an Alternator is called:­ / एक अĀरनॕटर कॕ भॊर शॊलॕ ्Āथोत कॕ दग़रॊन, ঋॕौरत ईएमएफ
फॕजर, ई और टोम१नल शख़Āॕज फॕजर, यॐ कॕ बॎच ঋĀॊोशत कलॊ कख़ण कख़ कऻॊ जॊतॊ ऻॖ: ­ 

Electric angle / इलॕ्ঠ३ क कख़ण

Mechanical angle / यॊॠोআक कख़ण

Load angle /  लख़ड कख़ण

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ 



Correct Answer :­Load angle /  लख़ड कख़ण 

21)

Question Stimulus :­

Electrical

How much will be the current drawn when 15 lamps of 50 watts are used for 5 hours per day in a
hostel? / ोकतनॎ ोशद्यॏ त कॎ खपत ऻख़गॎ योद 50 शॊट कॊ 15 ल॰प एक छॊআॊशॊऺ भशन म७ ঋोत ोदन 5 घॠटॕ तक उपयख़ग ोकयॊ जॊतॊ
ऻॖ?

6.125A  / 6.125 एĀॎयर

5.125A  / 5.125 एĀॎयर

4.125A / 4.125 एĀॎयर

3.125A / 3.125 एĀॎयर

Correct Answer :­3.125A / 3.125 एĀॎयर 

22)

Question Stimulus :­

Electrical

Find the average current flow in the wire. / तॊर म७ ঋशॊोऻत ऻख़नॕ शॊलॎ ोशद्यॏ त धॊरॊ कॊ औऺत कॊ मॊन Āॊत कर७।

Given: type of wire metallic / यऻ दॕखतॕ ॽए : तॊर धॊतॏ कॕ ঋकॊर

Total electrons drift across section per second = 1020  / कॏ ल इलॕঠ३ ॗनख़ ॠ ঋोत ऺॕकॠ ड = 1020 अनॏभॊग भर म७ बऻॊश

1.5A / 1.5 एĀॎयर



1.6A / 1.6 एĀॎयर

15A / 15 एĀॎयर

16 A / 16  एĀॎयर

Correct Answer :­16 A / 16  एĀॎयर 

23)

Question Stimulus :­

Electrical

The purpose of earthing electric appliances is: / ोशद्यॏ त उपकरणख़ ॠ म७ अोथ४ग (भॐ­ ॠऺपक१ ) Āथॊोपत करनॕ कॊ ভॊ उĀॕĀ
ऻॖ:

to provide safety against shock / झटकॕ कॕ ोशॹĀ  ॏऺर঴ॊ ঋदॊन करनॊ 

to ensure that the appliance saves current /  ॏऺोनोĀत करनॊ ोक उपकरण ोशद्यॏ त बचॊ रऻॕ

to ensure that the appliance gets full voltage /  ॏऺोनोĀत करनॊ ोक उपकरण पॐण१ शख़Āॕज ঋॊĀ कर७  

None of these / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­to provide safety against shock / झटकॕ कॕ ोशॹĀ  ॏऺर঴ॊ ঋदॊन करनॊ  

24)

Question Stimulus :­

Electrical

Copper behaves as a / तॊॠबॊ ोनोĀ्खत कॕ ॺप म७ ကशऻॊर करतॊ ऻॖ



conductor always / ऻमॕषॊ  ॏऺचॊलक कॕ ॺप म७

conductor or dielectric depending on the applied electric field strength /  ॏऺचॊलक यॊ
कॏ चॊलक कॕ ॺप म७ जख़ आरख़ोपत ोशद्यॏ त ঴ॕআ कॎ ष्ঢ पर ोनभ१र करतॊ ऻॖ 

conductor or dielectric depending on the frequency /  ॏऺचॊलक यॊ कॏ चॊलक जख़ आश॑ोĀ पर ोनभ१र
करतॊ ऻॖ

conductor or dielectric depending on the electric current density /  ॏऺचॊलक यॊ कॏ चॊलक जख़
ोशद्यॏ त ঋशॊऻ घनက पर ोनभ१र करतॊ ऻॖ

Correct Answer :­conductor always / ऻमॕषॊ  ॏऺचॊलक कॕ ॺप म७ 

25)

Question Stimulus :­

Electrical

Which of the following is common cause of brush sparking in a universal motor? / ऺॊश१ोআक मख़टर म७ ঍ष
ऺॕ ोचॠगॊरॎ ोनकलनॕ कॊ ऺबऺॕ ऺॊमॊက कॊरण कग़न ऻॖ?

single phase armature winding / आम८चर म७ कॏॠ डलॎ कॊ एकल चरण ऻख़नॊ

open armature winding / आम८चर म७ कॏॠ डलॎ कॊ खॏलॊ ऻख़नॊ 

high commutator mica / उৡ ोद঩ौरशत१क अ঎क 

shorted armature winding, open armature winding and high commutator mica
/ आम८चर म७ कॏॠ डलॎ कॊ छख़टॊ ऻख़नॊ, आम८चर म७ कॏॠ डलॎ कॊ खॏलॊ ऻख़नॊ, और उৡ ोद঩ौरशत१क अ঎क 

Correct Answer :­shorted armature winding, open armature winding and high commutator mica
/ आम८चर म७ कॏॠ डलॎ कॊ छख़टॊ ऻख़नॊ, आम८चर म७ कॏॠ डलॎ कॊ खॏलॊ ऻख़नॊ, और उৡ ोद঩ौरशत१क अ঎क  



26)

Question Stimulus :­

Electrical

Circuit turn­off time of an SCR is defined as the time: / एक एऺऺॎआर कॕ पौरपथ कॕ बॠद करनॕ कख़ ोकऺ ऺमय कॕ
ॺप म७ पौरभॊोहत ोकयॊ गयॊ ऻॖ:

taken by the SCR turn on and them turn off / एऺऺॎआर ोशद्यॏ त धॊरॊ कख़ ঋॊरĀ और बĀ ऻख़नॕ म७

required for the SCR current to become constant / ्Āथर ऻख़नॕ कॕ ोलए एऺऺॎआर ोशद्यॏ त कख़
आशĀक

for which the SCR is reverse biased by the commutation circuit / ोजऺकॕ ोलए एऺऺॎआर कख़
ोद঩ौरशत१न पौरपथ ကॊरॊ पĀठचोदोषक बॊयऺ ोकयॊ जॊतॊ ऻॖ 

for which the SCR is reverse biased to reduce its voltage below the holding current
/ ोजऺकॕ ोलए एऺऺॎआर कख़ पĀठचोदोषक बॊयऺ ोकयॊ जॊतॊ ऻॖ तॊोक इऺकॕ ोशद्यॏ त दॊब कख़ धॊरण करनॕ कॎ ঴मतॊ
ऺॕ कम ोकयॊ जॊ ऺकॕ 

Correct Answer :­for which the SCR is reverse biased by the commutation circuit / ोजऺकॕ ोलए एऺऺॎआर
कख़ ोद঩ौरशत१न पौरपथ ကॊरॊ पĀठचोदोषक बॊयऺ ोकयॊ जॊतॊ ऻॖ  

27)

Question Stimulus :­

Electrical

In dc machines, the / एक डॎऺॎ मषॎन म७, 

torque and induced e.m.f. are produced both in motor and generator



/ बल आघॐण१ और ঋॕौरत ई.एम.एफ कॊ उĀॊदन मख़टर और जॕनरॕटर दख़नख़ ॠ म७ ोकयॊ जॊतॊ ऻॖ

torque is produced in motor and e.m.f. is in generator / बल आघॐण१ कॊ उĀॊदन मख़टर और
ঋॕौरत ई.एम.एफ कॊ उĀॊदन जॕनरॕटर म७ ोकयॊ जॊतॊ ऻॖ

torque is produced in generator and e.m.f. is in motor / बल आघॐण१ कॊ उĀॊदन जॕनरॕटर और
ঋॕौरत ई.एम.एफ कॊ उĀॊदन मख़टर म७ ोकयॊ जॊतॊ ऻॖ

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­torque and induced e.m.f. are produced both in motor and generator
/ बल आघॐण१ और ঋॕौरत ई.एम.एफ कॊ उĀॊदन मख़टर और जॕनरॕटर दख़नख़ ॠ म७ ोकयॊ जॊतॊ ऻॖ 

28)

Question Stimulus :­

Electrical

If speed of a d.c. shunt motor increases, the back emf: / योद एक डॎ.ऺॎ पॊĀठश१ कॏॠ डोलत मख़टर कॎ गोत बु जॊतॎ ऻॖ,
तब ोपछलॊ ईएमएफ ऻख़ जॊएगॊ:

increases / बु जॊएगॊ

decreases / घट जॊएगॊ

remains fixed / ोनयत बनॊ रऻॕगॊ

decreases and then increases / पऻलॕ घटॕगॊ ोफर बुॕगॊ 

Correct Answer :­increases / बु जॊएगॊ 

29)



Question Stimulus :­

Electrical

In a synchronous motor, the minimum armature current occurs at:­ / एक तॏĀकॊोलक मख़टर म७, ကॐनतम
आम८चर ोशद्यॏ त धॊरॊ ोकऺ पर उĀĀ ऻख़तॎ ऻॖ|

zero power factor / षॐက ष्ঢ गॏणक

unity power factor / ऺमॊन ष्ঢ गॏणक

lagging power factor / धॎमॎ ष्ঢ गॏणक

leading power factor / मॏূ ष्ঢ गॏणक

Correct Answer :­unity power factor / ऺमॊन ष्ঢ गॏणक 

30)

Question Stimulus :­

Electrical

As the voltage of transmission increases, the volume of conductor / पॊरॕहण कॕ शख़Āॕज म७ श्॑Ā ऻख़नॕ पर,
चॊलक कॊ आयतन ऻख़गॊ 

increases / बुॕगॊ

does not change / पौरशोत१त नऻॎ ॠ ऻख़तॊ ऻॖ 

decreases / घटॕगॊ

increases proportionately / आनॏपॊोतक ॺप ऺॕ बुॕगॊ



Correct Answer :­decreases / घटॕगॊ 

31)

Question Stimulus :­

Electrical

A bank of condenser across the load of the factor is used for __________. /  ॠऺघोनআ कॕ एक ब॰क कॊ उपयख़ग
ॠऺपॐण१ भॊर कॕ गॏणक म७ __________ ोकयॊ जॊतॊ ऻॖ|

improving the power factor / ष्ঢ गॏणक म७  ॏऺधॊर करनॕ कॕ ोलए 

decreasing the power factor / ष्ঢ गॏणक कख़ घटॊनॕ कॕ ोलए

progress in the fluctuations / उतॊर­चुॊश म७ ঋगोत करनॕ कॕ ोलए

quick start of the motors / मख़टर कख़ षॎং चॊलॐ करनॕ कॕ ोलए

Correct Answer :­improving the power factor / ष्ঢ गॏणक म७  ॏऺधॊर करनॕ कॕ ोलए  

32)

Question Stimulus :­

Electrical

A network contains linear resistors and ideal voltage sources. If values of all the resistors are
doubled, then the voltage across each resistor:­ / एक  ॠऺजॊल म७ रॖ्खक ঋोतरख़ध और आदष१ शख़Āॕज कॊ ঔख़त षॊोमल
ऻॖ। योद ऺभॎ ঋोतरख़धकख़ ॠ कॊ मॊन दख़गॏनॊ ऻख़ जॊतॊ ऻॖ, तख़ ঋĀॕक  ঋोतरख़धक ऺॕ ঋशॊोऻत ऻख़नॕ शॊलॕ शख़Āॕज कॊ मॊन ऻख़गॊ?

is reduced to half / आधॕ तक कम ऻख़ जॊएगॊ 

is increased by two times / दख़गॏनॊ तक बु जॊएगॊ 



is increased by four times / चॊर गॏनॊ बु जॊएगॊ

does not change / पौरशत१न नऻॎ ॠ ऻख़गॊ 

Correct Answer :­does not change / पौरशत१न नऻॎ ॠ ऻख़गॊ  

33)

Question Stimulus :­

Electrical

In a single phase ac motor, the condenser is used to / एक एकल चरण शॊलॕ एऺॎ मख़टर म७,  ॠऺघोनআ कॊ ঋयख़ग ोकयॊ
जॊतॊ ऻॖ

split the phase / चरण कख़ ोशभॊोजत करनॕ कॕ ोलए 

minimise the radio interference / रॕोडयख़ ကोतकरण कख़ कम करनॕ कॕ ोलए

minimise the losses / ऻॊोन कख़ कम करनॕ कॕ ोलए

minimise the current / ोशद्यॏ त धॊरॊ कख़ कम करनॕ कॕ ोलए

Correct Answer :­split the phase / चरण कख़ ोशभॊोजत करनॕ कॕ ोलए  

34)

Question Stimulus :­

Electrical

In a d.c. machine without inter­poles, to get commutation improved, the brush shift angle must be:
/ ोबनॊ इॠटर­पख़ल शॊलॕ डॎ.ऺॎ. मषॎन म७, ोद঩ौरशत१न म७  ॏऺधॊर करनॕ कॕ ोलए, ঍ष कॕ ोशĀथॊपन कॕ कख़ण कख़ अशĀ ऻख़नॊ चॊोऻए:

varied with change in load / लख़ड म७ पौरशत१न कॕ ऺॊथ बदलतॊ ॽआ 



kept constant / ोनयतॊॠक रऻॕगॊ 

Zero degree / षॐက ोडঁॎ 

None of these / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ 

Correct Answer :­varied with change in load / लख़ड म७ पौरशत१न कॕ ऺॊथ बदलतॊ ॽआ  

35)

Question Stimulus :­

CANCELLED

Electrical

Ferrite cores are used in high frequency transformer, because it has: / फॕरॊइट कख़र कॊ उपयख़ग उৡ आश॑ोĀ
ट३ ॊॠऺफॊम१र म७ ोकयॊ जॊतॊ ऻ॰ ভख़ॠोक इऺकॕ पॊऺ ऻॖ:

average permeability / औऺत पॊरगĀतॊ

low hysteresis / ोनĀ षॖोथĀ

low impedance / कम ঋोतबॊधॊ

high resistance / उৡ ঋोतरख़ध

Correct Answer :­high resistance / उৡ ঋोतरख़ध 

36)

Question Stimulus :­

Electrical



A synchronous motor operated at no load with over excitation condition to draw large leading
reactive current and power is called a:­ / एक तॏĀकॊोलक मख़टर ोबनॊ ोकऺॎ भॊर कॕ अĀोधक उĀॕजन कॎ ्Āथोत म७
ोशषॊल पौरमॊण म७ ঋोतोॿयॊषॎल ोशद्यॏ त धॊरॊ और ष्ঢ खॎ ॠचनॕ कॕ ोलए पौरचॊोलत ऻख़तॊ ऻॖ, ोजऺॕ कऻॊ जॊतॊ ऻॖ :­ 

Synchronous motor / तॏĀकॊोलक मख़टर

Capacitor start motor /  ॠऺधॊौरআ कख़ चॊलॐ करनॕ शॊलॊ मख़टर

Synchronous condenser /  तॏĀकॊोलक कॠ डॕनऺर

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ 

Correct Answer :­Synchronous condenser /  तॏĀकॊोलक कॠ डॕनऺर 

37)

Question Stimulus :­

Electrical

What is temperature coefficient (per °C at 0°C) for German Silver conducting material? / जम१न ोऺĀर
ॏऺचॊलक पदॊथ१  ॠऺचॊलन कॕ ोलए  (0° ोडঁॎ ऺॕ्ကयऺ ঋोत ोडঁॎ ऺॕ्ကयऺ) तॊपमॊन गॏणॊॠक ভॊ ऻख़गॊ?

0.00044

0.00428

0.00027

0.0001

Correct Answer :­0.00044 

38)



Question Stimulus :­

Electrical

A 4 bit synchronous counter uses flip flops with propagation delay time of 15 ns each. The
maximum possible time for change of state will be: / एक 4 ोबट तॏĀकॊोलक ्Āप कॊ उपयख़ग कर कॊउॠटर 15
नॖनख़ ऺॕकॠ ड ঋĀॕक कॕ ঋचॊर म७ दॕरॎ ऺमय कॕ ऺॊथ Āॗप। अशĀथॊ कॕ पौरशत१न कॕ ोलए अोधकतम कम ऺमय ऻख़ जॊएगॊ:

15 ns / 15 नॖनख़ ऺॕकॠ ड

30 ns / 30 नॖनख़ ऺॕकॠ ड

45 ns / 45 नॖनख़ ऺॕकॠ ड

60 ns / 60 नॖनख़ ऺॕकॠ ड

Correct Answer :­60 ns / 60 नॖनख़ ऺॕकॠ ड 

39)

Question Stimulus :­

Electrical

_________ braking of electric motors occurs when the energy stored in the rotating mass is
dissipated in an electrical resistance. / ोशद्यॏ त मख़टरख़ ॠ म७  ________  ঍ॕक तब लगतॊ ऻॖ जब घॐण१न ঈကमॊन म७  ॠऺঁऻॎत
ऊजॊ१ कख़ एक ोशद्यॏ त ঋोतरख़ध म७ अपကय ोकयॊ जॊतॊ ऻॖ।

Dynamic / गोतषॎल

Regenerative / पॏनयॳजॎ

Variable / चर



Constant / ोनयतॊॠक

Correct Answer :­Dynamic / गोतषॎल 

40)

Question Stimulus :­

Electrical

For linear electromagnetic circuit, which of the following statements holds good? / रॖ्खक ोशद्यॏ त पौरपथ
कॕ ोलए, ोनĀोल्खत कथनख़ ॠ म७ ऺॕ कग़न ऺश१঒ॕĀ ऻॖ?

Field energy is equal to the co­energy / ঴ॕআ ऊजॊ१ ऺऻ­ऊजॊ१ कॕ बरॊबर ऻॖ

Field energy is greater than the co­energy / ঴ॕআ ऊजॊ१ ऺऻ­ऊजॊ१ कॎ तॏलनॊ म७ अोधक ऻॖ

Field energy is lesser than the co­energy / ঴ॕআ ऊजॊ१ ऺऻ­ऊजॊ१ कॎ तॏलनॊ म७ कम ऻॖ

co­energy is zero / ऺऻ­ऊजॊ१ षॐက ऻॖ 

Correct Answer :­Field energy is equal to the co­energy / ঴ॕআ ऊजॊ१ ऺऻ­ऊजॊ१ कॕ बरॊबर ऻॖ 

41)

Question Stimulus :­

Electrical

Find total ampere turns if in an iron ring of mean length 60 cm has an air gap of 2 mm and a
windings of 100 turns and current of 2 A flowing through the coil. / कॏ ल एĀॎयर कॕ फॕरख़ ॠ (चॿ) कॎ  ॠऺূॊ Āॊत
कर७  योद 60 ऺॕमॎ मॊĀ लॠबॊई शॊलॕ लख़ऻॕ कॕ एक छĀॕ म७ 2 ोममॎ ऻशॊ कॊ अॠतर ऻॖ और कॏॠ डलॎ म७ 100 फॕरॊ (चॿ) तथॊ उऺऺॕ ऻख़कर 2
एĀॎयर कॎ ोशद्यॏ त धॊरॊ ঋशॊोऻत ऻख़तॎ ऻॖ।

100



200

300

400

Correct Answer :­200 

42)

Question Stimulus :­

Electrical

In a synchronous machine, if the field flux is ahead of the armature field axis, in the direction of
rotation, the machine works as:­ / एक तॏĀकॊोलक मषॎन म७, योद ঴ॕআ ঋशॊऻ घॐण१न कॎ ोदषॊ म७ आम८चर ঴ॕআ कॕ अ঴ ऺॕ
आगॕ ऻख़तॊ ऻॖ, तख़ मषॎन ोकऺ ॺप म७ कॊय१ करतॊ ऻॖ 

asynchronous motor / अतॏĀकॊोलक मख़टर

asynchronous generator / अतॏĀकॊोलक जनरॕटर

synchronous motor / तॏĀकॊोलक मख़टर

synchronous generator / तॏĀकॊोलक जनरॕटर

Correct Answer :­synchronous generator / तॏĀकॊोलक जनरॕटर 

43)

Question Stimulus :­

Electrical

If a synchronous motor is switched on to 3­phase supply with its rotor winding short circuited, it



will: / योद एक तॏĀकॊोलक मख़टर ोजऺकॕ रख़टर कॕ कॏॠ डलॎ म७ लघॏ­पौरपथन ऻख़, उऺॕ तॎन – फॕज शॊलॕ ोशद्यॏ त आपॐोत१ पर Āथॊनॊॠतौरत
कर ोदयॊ जॊतॊ ऻॖ, तब यऻ 

start / चॊलॐ ऻख़गॎ 

not start / चॊलॐ नऻॎ ॠ ऻख़गॎ 

start and continue to run as induction motor / चॊलॐ ऻख़गॎ और एक ঋॕरण मख़टर कॕ ॺप  ॠऺचॊोलत
ऻख़तॎ रऻॕगॎ 

start and continue to run as asynchronous motor / चॊलॐ ऻख़गॎ और एक अतॏĀकॊोलक मख़टर कॕ
ॺप  ॠऺचॊोलत ऻख़तॎ रऻॕगॎ 

Correct Answer :­start and continue to run as induction motor / चॊलॐ ऻख़गॎ और एक ঋॕरण मख़टर कॕ ॺप  ॠऺचॊोलत
ऻख़तॎ रऻॕगॎ  

44)

Question Stimulus :­

Electrical

If a flux of dc series motor reduces, its speed will be / योद डॎऺॎ ঒॑ॠखलॊ मख़टर कॊ ঋशॊऻ कम ऻख़तॊ ऻॖ, तख़ उऺकॎ
गोत 

be infinity / अनॠत ऻख़गॎ

be zero / षॐက ऻख़गॎ

be between zero and infinity / षॐက और अनॠत कॕ बॎच ऻख़गॎ

constant / अचर ऻख़गॎ



Correct Answer :­be between zero and infinity / षॐက और अनॠत कॕ बॎच ऻख़गॎ 

45)

Question Stimulus :­

Electrical

The function of equalising connections in a lap wound d.c. generator is: / शोलत कॏॠ डलॎ (लॖप शग़ ॠड) डॎ.ऺॎ
जॕनरॕटर म७ ऺमकॊरॎ  ॠऺयख़जन कॊ कॊय१ ऻख़तॊ ऻॖ:

to neutralise the armature reaction effect / आम८चर कॕ ঋोतोॿयॊ कॕ ঋभॊश कख़ ोशफल करनॊ

to avoid unequal distribution of currents at brushes / ঍ष पर ोशद्यॏ त धॊरॊ कॕ अऺमॊन ोशतरण
कख़ अऺफल करनॊ

to avoid short circuit current / लघॏ पौरपथ शॊलॕ ोशद्यॏ त धॊरॊ ऺॕ बचॊनॊ

None of these / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­to avoid unequal distribution of currents at brushes / ঍ष पर ोशद्यॏ त धॊरॊ कॕ अऺमॊन
ोशतरण कख़ अऺफल करनॊ 

46)

Question Stimulus :­

Electrical

 All transmission and distribution systems are __________phase systems. / ऺभॎ पॊरॕहण और ोशतरण
ঋणॊलॎ ________ चरण ঋणॊोलयॊॠ ऻ॰।

3

2



1

4

Correct Answer :­3 

47)

Question Stimulus :­

Electrical

A transformer having 1000 primary turns is connected to a 250V ac supply. For a secondary voltage
of 400V, the number of secondary turns should be / एक ट३ ॊॠऺफॊम१र ोजऺम७ 1000 ঋॊथोमक फॕरॊ (कॏॠ डलॎ) ऻॖ उऺॕ
250 शख़Ā कॕ एऺॎ आपॐोत१ ऺॕ  ॠऺयख़ोजत ोकयॊ जॊतॊ ऻॖ। 400 शख़Ā शॊलॕ एक ोကतॎयक शख़Āॕज कॕ ोलए, ोကतॎयक फॕरख़ ॠ (कॏॠ डोलयख़ ॠ) कॎ

ॠऺূॊ ভॊ ऻख़गॎ|

1600

250

400

1250

Correct Answer :­1600 

48)

Question Stimulus :­

Electrical

Energy savings potential of variable torque applications compared to constant torque application is:
/ अचर टॊक१  अनॏঋयख़ग कॎ तॏलनॊ म७ चर टॊक१  अनॏঋयख़गख़ ॠ म७ ऊजॊ१ बचत कॎ ঴मतॊ ऻख़तॎ ऻॖ:



higher / उৡ

minor / अĀ

equivalent / ऺमक঴

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­higher / उৡ 

49)

Question Stimulus :­

Electrical

When 3­phase supply is given to the stator of the motor, a / जब 3­चरणख़ ॠ शॊलॊ ोशद्यॏ त आपॐोत१ एक Āथॖोतक मख़टर
 कख़ दॎ जॊतॎ ऻॖ, एक 

rotating field is set up / घॐमनॕ शॊलॊ ঴ॕআ Āथॊोपत ऻख़तॊ ऻ॰

pulsating field is set up / Āॠोदत ऻख़नॕ शॊलॊ ঴ॕআ Āथॊोपत ऻख़तॊ ऻ॰

revolving field at synchronous speed is set up / तॏĀकॊोलक गोत ऺॕ घॐमनॕ शॊलॊ ঴ॕআ Āथॊोपत ऻख़तॊ
ऻ॰

rotating field at the rotor speed is set up / घॐण१क गोत ऺॕ घॐमनॕ शॊलॊ ঴ॕআ Āथॊोपत ऻख़तॊ ऻ॰

Correct Answer :­revolving field at synchronous speed is set up / तॏĀकॊोलक गोत ऺॕ घॐमनॕ शॊलॊ ঴ॕআ Āथॊोपत
ऻख़तॊ ऻ॰ 

50)

Question Stimulus :­



Electrical

By providing a variable resistance across the series field (diverter) in a dc series motor, speeds
above normal can be obtained because / एक डॎऺॎ मख़टर ঒॑ॠखलॊ म७  ॠऺपॐण१ ঒॑ॠखलॊ ঴ॕআ (डॊइशट१र) म७ एक चर ঋोतरख़ध
ঋदॊन करकॕ, ऺॊमॊက ऺॎऺॕ गोत ऺॕ अोधक ঋॊĀ ोकयॊ जॊ ऺकतॊ ভख़ॠोक 

armature current decreases / आम८चर कॎ ोशद्यॏ त धॊरॊ कम ऻख़ जॊतॎ ऻॖ

flux is reduced / ঋशॊऻ कम ऻख़ जॊतॊ ऻॖ 

line current is decreased / लॊइन धॊरॊ कम ऻख़ जॊतॊ ऻॖ

none of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­flux is reduced / ঋशॊऻ कम ऻख़ जॊतॊ ऻॖ  

51)

Question Stimulus :­

Electrical

Interpoles are meant for / इॠटरपख़ल कॊ ভॊ कॊय१ ऻॖ

increase in the speed of the motor / मख़टर कॎ गोत म७ श्॑Ā

increase in current e.m.f. / ोशद्यॏ त धॊरॊ कॕ ई.एम.एू म७ श्॑Ā

increase in the strength of the main field / ঋमॏख ঴ॕআ कॎ ष्ঢ  म७ श्॑Ā

reducing sparking at the commutator / कĀॐटॕटर म७ ोचॠगॊरॎ कख़ कम करनॊ

Correct Answer :­reducing sparking at the commutator / कĀॐटॕटर म७ ोचॠगॊरॎ कख़ कम करनॊ 



52)

Question Stimulus :­

Electrical

The torque of an induction motor in synchronous watt is equal to / तॏĀकॊोलक शॊट म७ एक ঋॕरण मख़टर कॊ
टॊक१  ोकऺकॕ बरॊबर ऻख़तॊ ऻॖ

rotor input / घॐण१क आदॊन

stator output / Āथॖोतक उĀॊदन

stator input / Āथॖोतक आदॊन 

watts at rotor speeds / घॐण१क गोत पर शॊट

Correct Answer :­rotor input / घॐण१क आदॊन 

53)

Question Stimulus :­

Electrical

What are considered as a point of constant voltage in a system? / ोकऺॕ एक ঋणॊलॎ म७ ोनयत शख़Āॕज कॕ एक
ोबॠदॏ कॕ ॺप म७ मॊनॊ जॊतॊ ऻॖ?

Buses / बऺ

Nodes / नख़ड्ऺ (ोनĀॠद) 

Both of the above / उपरख़ঢ दख़नख़ ॠ

None of the above /  उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ



 

Correct Answer :­Buses / बऺ 

54)

Question Stimulus :­

Electrical

Group drive has _______power factor. / ऺमॐऻ ड३ ॊइश ________ ष्ঢ गॏणक ऻॖ।

Low / कम

High / उৡ

Medium / मĀम

Fixed / ोनोĀत

Correct Answer :­Low / कम 

55)

Question Stimulus :­

Electrical

The study of various methods of solution to power system network is referred to as _______flow
study. / ऊजॊ१ ঋणॊलॎ नॕटशक१  कॕ ऺमॊधॊन करनॕ कॎ ोशोभĀ ोशोधयख़ ॠ कॕ अĀयन कख़ _______ঋशॊऻ अĀयन कॕ ॺप म७ जॊनॊ जॊतॊ
ऻॖ।

Load / भॊर

Inductance / ঋॕरण



Capacitance / धॊौरतॊ

Resistance / ঋोतरख़ध

Correct Answer :­Load / भॊर 

56)

Question Stimulus :­

Electrical

The shape of torque/slip curve of an induction motor is: / एक ঋॕरण मख़टर म७ बल आघॐण१/ ऺप५ शॿ कॊ आकॊर
ऻख़तॊ ऻॖ

hyperbola / अोतपरशलय 

ellipse / श॑तॊकॊर

straight line / ऺॎधॎ रॕखॊ 

rectangular parabola / आयतॊकॊर परशलय 

Correct Answer :­rectangular parabola / आयतॊकॊर परशलय  

57)

Question Stimulus :­

Electrical

In the below given deflecting torque equation “B” indicates:

नॎचॕ ोदए गए ोश঴ॕपण टॊक१  ऺमॎकरण म७ 'बॎ' ोकऺकख़ इॠोगत करतॊ ऻॖ:



Equation: Deflecting torque = N.B.A.I

ऺमॎकरण: ोश঴ॕपण टॊक१  = एन.बॎ.ए.आई.

Constant / ोनयतॊॠक

Flux Density / ঋशॊऻ कॕ घनက

Current flowing throughout the meter / मॎटर म७ ঋशॊोऻत ऻख़नॕ शॊलॎ ोशद्यॏ त धॊरॊ

Number of turns in the coil  / कॏॠ डलॎ म७ फॕरख़ कॎ  ॠऺূॊ 

Correct Answer :­Flux Density / ঋशॊऻ कॕ घनက 

58)

Question Stimulus :­

Electrical

The construction of dc motor is / डॎऺॎ मख़टर कॊ ोनमॊ१ण ऻख़तॊ ऻॖ

same as that of dc generator / डॎऺॎ जनरॕटर कॕ जॖऺॊ 

different than dc generator / डॎऺॎ जनरॕटर ऺॕ ोभĀ

similar but different in frame construction / ऺमॊन, परॠतॏ ঌॕम कॕ ोनमॊ१ण म७ ोभĀ

different in construction and similar in frame construction / ोनमॊ१ण म७ ोभĀ परॠतॏ ঌॕम ोनमॊ१ण
म७ ऺमॊन

Correct Answer :­similar but different in frame construction / ऺमॊन, परॠतॏ ঌॕम कॕ ोनमॊ१ण म७ ोभĀ 

59)



Question Stimulus :­

Electrical

In a dc machine the maximum losses occur due to: / एक डॎऺॎ मषॎन म७ अोधकतम ऻॊोन ोकऺकॕ कॊरण ऻख़तॎ ऻॖ?

zinc losses / जĀॊ कॎ ऻॊोन

electrical losses / ोशद्यॏ तॎय ऻॊोन

copper losses / तॊॠबॊ कॎ ऻॊोन

none of these / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­copper losses / तॊॠबॊ कॎ ऻॊोन 

60)

Question Stimulus :­

Electrical

Phase modifiers in AC transmission line are: / एऺॎ पॊरॕहण लॊइन म७ पऻलॕ चरण  ॠऺषख़धक ऻ॰: 

synchronous machines / तॏĀकॊोलक मषॎन

Induction machines / ঋॕरण मषॎन

DC machines / डॎऺॎ मषॎन

Transformers / ट३ ॊॠऺफॗम१र

Correct Answer :­synchronous machines / तॏĀकॊोलक मषॎन 



61)

Question Stimulus :­

Electrical

Application of occupancy sensors is well suited for / अोधकॊर  ॠऺशॕदक (ऑভॐप७ऺॎ  ७ऺऺर) कॊ अनॏঋयख़ग अৢॎ तरऻ
ऺॕ ोकऺकॕ अनॏकॐ ल ऻख़तॊ ऻॖ

day light based controllers / ोदन कॕ उजॊलॕ पर आधॊौरत ोनयॠআक कॕ ोलए 

night based controllers / रॊत आधॊौरत ोनयॠআक कॕ ोलए 

integral controllers / अोभĀ ोनयॠআक

movement or noise detector in room space / कमरॕ म७ गोत यॊ षख़र  ॠऺ ॐऺचक कॕ ोलए 

Correct Answer :­movement or noise detector in room space / कमरॕ म७ गोत यॊ षख़र  ॠऺ ॐऺचक कॕ ोलए  

62)

Question Stimulus :­

CANCELLED

Electrical

______ is the voltage that has been selected for HVDC transmission. / ______ शऻ शख़Āॕज ऻॖ ोजऺकॊ चयन
एचशॎडॎऺॎ पॊरॕहण कॕ ोलए ोकयॊ गयॊ ऻॖ|

± 500 KV

± 550 KV

± 600 KV



± 300 KV

Correct Answer :­± 500 KV 

63)

Question Stimulus :­

Electrical

As compared to an amplifier, a transformer cannot:­ / एक एĀलॎफॊयर कॎ तॏलनॊ म७, एक ट३ ॊॠऺफॊम१र ভॊ नऻॎ ॠ कर
ऺकतॊ ऻॖ?

decrease the output voltage / शख़Āॕज कॕ उĀॊदन म७ कमॎ

increase the input current / ोशद्यॏ त धॊरॊ कॕ ोनशॕष म७ श्॑Ā 

increase the output power / उजॊ१ कॕ उĀॊदन म७ श्॑Ā 

none of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­increase the output power / उजॊ१ कॕ उĀॊदन म७ श्॑Ā  

64)

Question Stimulus :­

Electrical

Which among the following has a frequency selective amplifier whose gain decreases from a finite
value to zero as the frequency of the sinusoidal input increases from dc to infinity? / ोनĀोल्खत म७ ऺॕ
कग़न ऺॊ एक आश॑ोĀ चयनॊĀक एĀलॎफॊयर ऻॖ ोजऺकॊ लॊभ  एक ोनोĀत मॊन ऺॕ घट कर षॐက ऻख़ जॊतॊ ऻॖ जब Āॊशॿॎय आदॊन कॎ
आश॑ोĀ डॎऺॎ ऺॕ बुकर अनॠत ऻख़ जॊतॎ ऻॖ?

low pass filter / ोनĀ आश॑ोĀ पॊरक ोूĀर ोनĀ दॊब



differentiator circuit / अशकलक पौरपथ 

leaky integrator / ঴रण  ऺमॊकलक

voltage follower / शख़Āॕज अनॏगॊमॎ

Correct Answer :­low pass filter / ोनĀ आश॑ोĀ पॊरक ोूĀर ोनĀ दॊब 

65)

Question Stimulus :­

Electrical

Find out the average monthly load factor / औऺत मॊोऺक भॊर ঴मतॊ Āॊत कर७  

Given / योद ोदयॊ गयॊ ऻॖ 

Reading obtained for 1 month = 30 days / 1 मऻॎनॕ कॕ ोलए ঋॊĀ पॊĀॊॠक  = 30 ोदन

kWh drawn per month = 386,540 / ঋोत मॊऻ खपत ोकलख़शॊट घॠटॊ = 386,540

Maximum demand = 1500 kW / अोधकतम मॊॠग =1500 ोकलख़शॊट घॠटॊ

35%

45%

55%

65%

Correct Answer :­35% 

66)



Question Stimulus :­

Electrical

Three resisters of 3 ohm, 10 ohm and 15 ohm are connected in parallel in a 30 V circuit. The current
will that flow through the 3­ohm resistor is: / तॎन ঋोतरख़ध ॿमष: 3 ओम, 10 ओम और 15 ओम एक 30 शख़Ā शॊलॕ
पौरपथ म७ ऺमॊनॊॠतर ॿम म७ जॏीॕ ऻ॰। 3­ओम शॊलॕ ঋोतरख़धक कॕ मॊĀम ऺॕ ोकतनॎ ोशद्यॏ त धॊरॊ ঋशॊोऻत ऻख़गॎ:

30 A / 30 एĀॎयर

10 A / 10 एĀॎयर

6 A / 6 एĀॎयर

2 A / 2 एĀॎयर

Correct Answer :­10 A / 10 एĀॎयर 

67)

Question Stimulus :­

Electrical

For given alternating voltage find the value of frequency V = 210 sin 214t. / ोदए गए ঋĀॊशत५ धॊरॊ
(शख़Āॕज) कॕ ोलए आश॑ोĀ शॎ कॊ मॊन Āॊत कर७ , जऻॊँ शॎ= 210 ऺॊइन 214टॎ ऻॖ|

33 Hz / 33 ऻट्१ज

34 Hz  / 34 ऻट्१ज

35 Hz  / 35 ऻट्१ज

36 Hz / 36 ऻट्१ज



Correct Answer :­34 Hz  / 34 ऻट्१ज 

68)

Question Stimulus :­

Electrical

The direction of rotation in a conventional shaded­pole motor can be reversed by / एक पॊरॠपौरक
छॊयॊॠोकत উॏशॎय मख़टर म७ घॐण१न कॎ ोदषॊ कख़ ोकऺकॕ ကॊरॊ परॊश॑Ā (उĀॊ) ोकयॊ जॊ ऺकतॊ ऻॖ

reversing the line connections / लॊइन  ॠऺयख़जन कख़ परॊश॑Ā करकॕ 

use of a capacitor / एक  ॠऺधॊौरআ कॊ उपयख़ग 

reversing the rotor / रख़टर (घॐण१क) कख़ परॊश॑Ā करकॕ

reversing the stator poles 180o / Āथॖोतक উॏश कख़ 180 o पॎछॕ करकॕ 

Correct Answer :­reversing the stator poles 180o / Āथॖोतक উॏश कख़ 180 o पॎछॕ करकॕ  

69)

Question Stimulus :­

Electrical

Which function cannot be specified for all times by simply knowing a finite segment? / ोकऺ कॊय१ कख़
एक मॊআ पौरोमत खॠड Āॊत ऻख़नॕ पर ऻर ऺमय ोनोद१Ā नऻॎ ॠ ोकयॊ जॊ ऺकतॊ ऻॖ?

The unit step functions / इकॊई चरण कॊ कॊय१

The unit impulse functions / इकॊई आशॕग कॊ कॊय१

Non periodic functions / गॖर­आशोधक कॊय१



Non periodic functions / गॖर­आशोधक कॊय१

The exponential function / घॊतॊॠकॎय कॊय१

Correct Answer :­Non periodic functions / गॖर­आशोधक कॊय१ 

70)

Question Stimulus :­

Electrical

The effect of stray magnetic fields on the actuating torque of a portable instrument is the maximum
when the operating field of the instrument and the stray fields are / एक पख़ट८बल उपकरण कॕ ऺोॿय बल­
आघॐण१ पर ोबखरॕ ॽए चॏॠबकॎय ঴ॕআ कॊ ঋभॊश अोधकतम ऻख़तॊ ऻॖ जब यॠআ कॊ कॊय१कॊरॎ ঴ॕআ और ोबखरॊ ঴ॕআ ऻख़तॊ ऻॖ 

perpendicular / लॠबशत

parallel / ऺमॊनॊॠतर

inclined at 60o / 60o पर झॏकॊ ॽआ

inclined at 30o / 30o पर झॏकॊ ॽआ 

Correct Answer :­parallel / ऺमॊनॊॠतर 

71)

Question Stimulus :­

Electrical

The control system in which the output quantity has no effect upon the input quantity are called
_____control system. / ोनयॠআण ঋणॊलॎ ोजऺम७ उĀॊदन कॎ मॊআॊ कॊ आदॊनख़ ॠ कॎ मॊআॊ पर कख़ई ঋभॊश नऻॎ ॠ पीतॊ ऻॖ उऺॕ

_____ ोनयॠআण ঋणॊलॎ कऻॊ जॊतॊ ऻॖ।



_____ ोनयॠআण ঋणॊलॎ कऻॊ जॊतॊ ऻॖ।

Open loop / खॏलॊ लॐप

Closed loop / बॠद लॐप

Variable / चर

Non – variable / अचर

Correct Answer :­Open loop / खॏलॊ लॐप 

72)

Question Stimulus :­

Electrical

Electrical machines are designed to have the maximum efficiency at / ोशद्यॏ त मषॎनख़ ॠ कख़ ोकऺ ्Āथोत म७
अोधकतम ঴मतॊ पर कॊय१ करनॕ कॕ ोलए तॖयॊर ोकयॊ जॊतॊ ऻॖ

full load / पॐण१ भॊर

50% of full load / पॐण१ भॊर कॊ 50%       

near about full load / पॐण१ भॊर कॕ ोनकट 

no load / कख़ई भॊर नऻॎ ॠ 

Correct Answer :­near about full load / पॐण१ भॊर कॕ ोनकट  

73)

Question Stimulus :­



Electrical

The  plot between the power angle and time is: / ोशद्यॏ त कख़ण और ऺमय कॕ बॎच आलॕख कख़ कऻॊ जॊतॊ ऻॖ:

Swing curve / दख़लन शॿ

Power curve / ष्ঢ शॿ

Critical clearing angle / ॿॊॠोतक ऺमॊषख़धन कख़ण

None of the above / उपरख़ঢ म७ ऺॕ कख़ई

Correct Answer :­Swing curve / दख़लन शॿ 

74)

Question Stimulus :­

CANCELLED

Electrical

An electric cabin heater draws 15 A at 110 V. If the voltage is reduced to 95 V, the current will be:
/ एक इलॕ्ঠ३ क कॕोबन ऻॎटर 110 शख़Āॕज पर 15 एĀॎयर शख़Āॕज ঋॊĀ करतॊ ऻॖ। योद शख़Āॕज कम ऻख़ 95 शख़Āॕज रऻ जॊतॊ ऻॖ, तख़
ोकतनॎ ोशद्यॏ त धॊरॊ ঋशॊोऻत ऻख़गॎ:

13 A / 13 एĀॎयर

1.30 A / 1.30 एĀॎयर

7.3 A / 7.3 एĀॎयर

None of these / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­13 A / 13 एĀॎयर 



75)

Question Stimulus :­

Electrical

The steady current when flowing through the conductor, does not distribute uniformly, rather it has
the tendency to concentrate near the surface of the conductor. This phenomenon is called:­ /  ॏऺचॊलक
ऺॕ ऻख़कर ঋशॊोऻत ऻख़नॕ शॊलॎ अपौरशत५ ोशद्यॏ त धॊरॊ ऺमॊन ॺप ऺॕ ोशतौरत नऻॎ ॠ ऻख़तॎ ऻॖ, इऺकॕ बजॊय इऺकॎ ঋश॑ोत  ॏऺचॊलक कॎ ऺतऻ कॕ
ोनकट  ॠऺक७ ोঈत ऻख़नॕ कॎ ऻख़तॎ ऻॖ। इऺ पौरघटनॊ कख़ कऻॊ जॊतॊ ऻॖ : ­

Skin effect / उपौरĀर ঋभॊश 

Eddy current / भँशर धॊरॊ

Hysteresis loss / षॖोथĀ कॎ ऻॊोन 

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Skin effect / उपौरĀर ঋभॊश  

76)

Question Stimulus :­

Electrical

What is the type of bonding in SO2? / SO2 म७ ोकऺ ঋकॊर कॊ बॠधन ोशĀमॊन ऻॖ?

Ionic / आयोनक

Metallic / धॊतॏई

Van der waals / शॊन डर शॊက



None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Ionic / आयोनक 

77)

Question Stimulus :­

Electrical

The terminal board of a motor is as shown in the diagram. Which type of motor is this? / एक मख़टर कॕ
टोम१नल बख़ड१ कख़ आरॕख म७ ोदखॊयॊ गयॊ ऻॖ। यऻ मख़टर ोकऺ ঋकॊर कॊ ऻॖ?

A induction motor with commutating pole winding / ोद঩ौरशत१क উॏश कॏॠ डलॎ कॕ ऺॊथ एक ঋॕरण
मख़टर 

A shunt motor with armature winding / कशचकॏॠ डलॎ कॕ ऺॊथ एक पॊĀठश१ कॏॠ डोलत मख़टर

A shunt motor without commutating pole winding / ोद঩ौरशत१क উॏश कॏॠ डलॎ कॕ ोबनॊ एक पॊĀठश१
कॏॠ डोलत मख़टर

A series motor with spiral winding / कॏॠ डलॎ कॕ ऺॊथ एक ঒॑ॠखलॊ मख़टर

Correct Answer :­A shunt motor without commutating pole winding / ोद঩ौरशत१क উॏश कॏॠ डलॎ कॕ ोबनॊ एक
पॊĀठश१ कॏॠ डोलत मख़टर 

78)



Question Stimulus :­

Electrical

Variable speed cannot be obtained with / ोकऺकॕ ऺॊथ चर गोत कख़ ঋॊĀ नऻॎ ॠ ोकयॊ जॊ ऺकतॊ ऻॖ

DC motors controller / डॎऺॎ मख़टर ोनयॠআक

derivative controller / यग़ोगक ोनयॠআक

soft starter controller / ोषोथल Āॊट१र ोनयॠআक

AC & DC controllers / एऺॎ और डॎऺॎ ोनयॠআक

Correct Answer :­soft starter controller / ोषोथल Āॊट१र ोनयॠআक 

79)

Question Stimulus :­

CANCELLED

Electrical

In which type of heating following factors need to be considered: / ोकऺ ঋकॊर कॕ तॊपन म७ ोनĀोल्खत कॊरकख़ ॠ
पर ोशचॊर करनॕ कॎ जॺररत ऻख़तॎ ऻॖ:

a. Thickness of the surfaces to be heated / क) गम१ ोकए जॊनॕ शॊलॕ ऺतऻख़ ॠ कॎ मख़टॊई 

      b. Thickness of the surfaces to be heated / ख) गम१ ोकए जॊनॕ शॊलॕ ऺतऻख़ ॠ कॎ मख़टॊई 

Infrared frequency / अशरঢ आश॑ोĀ

Radiant frequency / दॎ्Āमॊन आश॑ोĀ



Dielectric frequency / अचॊलक आश॑ोĀ

Induction frequency  / ঋॕरण आश॑ोĀ

Correct Answer :­Induction frequency  / ঋॕरण आश॑ोĀ 

80)

Question Stimulus :­

Electrical

The design of insulation for systems above 400 kv, is based upon:­ / 400 ोकलख़शॊट कॕ अोधक शॊलॕ ঋणॊलॎ कॕ
रख़धन (इĀॏलॕषन) कॊ ोडजॊइन ोकऺ पर आधॊौरत ऻख़तॊ ऻॖ?

lightning over voltage / शख़Āॕज अोधक 

switching surges / ्Āोचॠग म७ श्॑Ā 

system voltage level / ঋणॊलॎ कॕ शख़Āॕज कॊ Āर

system load level / ঋणॊलॎ कॕ भॊर कॊ Āर

Correct Answer :­switching surges / ्Āोचॠग म७ श्॑Ā  

81)

Question Stimulus :­

Electrical

Determine the absolute error of measurement if measured value of a resistance = 20.65Ω and true
value = 20.55Ω. / मॊप कॎ ोनरपॕ঴ আॏोट कॊ ोनधॊ१रण कर७  योद मॊपॕ गए ঋोतरख़ध कॊ मॊन = 20.65Ω और ऺĀ मॊन 20.55Ω ऻॖ|

0.1 Ω



0.2 Ω

0.3 Ω

0.4 Ω

Correct Answer :­0.1 Ω 

82)

Question Stimulus :­

Electrical

What is the energy efficient transformer core  made up of? / ऊजॊ१ कॏ षल ट३ ॊॠऺफॊम१र कॊ मॏূ भॊग (कख़र) ोकऺ
ऺॕ बनॊ ऻख़तॊ ऻॖ

Silicon alloyed iron (grain oriented) / ोऺोलकॗन ोमो঒त लख़ऻॕ (अनॊज उĀॏख)

iron / लख़ऻॊ

amorphous core­metallic glass alloy / रशॊऻॎन कख़र­धॊतॏ कॕ कॊॠच ोम঒ धॊतॏ

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­amorphous core­metallic glass alloy / रशॊऻॎन कख़र­धॊतॏ कॕ कॊॠच ोम঒ धॊतॏ 

83)

Question Stimulus :­

Electrical

For high values of armature current, the speed of a dc series motor is: / आम८चर कॎ ोशद्यॏ त धॊरॊ कॕ उৡ
मॊनख़ कॕ ोलए, एक ोदĀ ঒॑ॠखलॊ मख़टर कॎ गोत  कॖऺॎ ऻख़तॎ ऻॖ?

proportional to armature current  / आम८चर ोशद्यॏ त धॊरॊ कॕ आनॏपॊोतक



proportional to armature current  / आम८चर ोशद्यॏ त धॊरॊ कॕ आनॏपॊोतक

inversely proportional to armature current / आम८चर ोशद्यॏ त धॊरॊ कॕ ကॏĀमॊनॏपॊतॎ 

constant / अचर

none of these / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ 

Correct Answer :­constant / अचर 

84)

Question Stimulus :­

Electrical

The efficiency of ___________ is more than 90%. / __________ कॎ द঴तॊ 90% ऺॕ अोधक ऻॖ।

motor / मख़टर

transformer / ट३ ॊॠऺफॊम१र

generator / जनरॕटर

none of these / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­transformer / ट३ ॊॠऺफॊम१र 

85)

Question Stimulus :­

Electrical

In a series RC circuit, the voltage across the capacitor and the resistor are 60V and 80V
respectively. The input voltage should be / एक ঒॑ॠखलॊ म७  ॠऺयख़ोजत आरऺॎ पौरपथ म७,  ॠऺपॐण१  ॠऺधॊौरআ और ঋोतरख़धख़ ॠ म७



respectively. The input voltage should be / एक ঒॑ॠखलॊ म७  ॠऺयख़ोजत आरऺॎ पौरपथ म७,  ॠऺपॐण१  ॠऺधॊौरআ और ঋोतरख़धख़ ॠ म७
शख़Āॕज ॿमषॡ 60 शख़Ā और 80 शख़Ā ऻ॰। इनपॏट (आदॊन) शख़Āॕज ऻख़नॊ चॊोऻए

70 ∠ 45o V / 70 ∠ 45o शख़Āॕज

100 ∠ – 37o V / 100 ∠ –37o शख़Āॕज     

105 ∠ –42o V / 105 ∠ –42o शख़Āॕज

108 ∠ –60o V / 108 ∠ –60o शख़Āॕज

Correct Answer :­100 ∠ – 37o V / 100 ∠ –37o शख़Āॕज      

86)

Question Stimulus :­

Electrical

Coolng time constant is denoted as:­ / षॎतलन ऺमय ोनयतॊॠक कख़ ोकऺ ॺप म७ ोचोĀत ोकयॊ जॊतॊ ऻॖ: ­

Tau / तॊउ

Lux / लস

Farenhiet / फॊरॕनऻॊइट

Degree Celsius / ोडঁॎ ऺॕ्ကयऺ 

Correct Answer :­Tau / तॊउ 

87)



Question Stimulus :­

CANCELLED

Electrical

With core type transformers, the limbs are stepped to / कख़र ঋकॊर कॕ ट३ ॊॠऺफॊम१र कॕ ऺॊथ, भॊगख़ ॠ कख़ तॕज कर ोदयॊ
जॊतॊ ऻॖ

reduce the zinc material and, therefore, zinc loss / जĀॊ कॎ ऺॊमঁॎ कख़ कम करनॊ, और इऺ
ঋकॊर, जĀॊकॎ ऻॊोन कख़ घटॊनॊ

reduce the conductor material and, therefore I2R loss /  ॏऺचॊलक ऺॊमঁॎ कख़ कम करनॊ, और
इऺ ঋकॊर, आई2 आर कॎ ऻॊोन कख़ घटॊनॊ 

provide better cooling / बॕऻतर षॎतलन ঋदॊन करनॊ 

supply more mechanical strength to the core / कख़र कख़ अोधक यॊॠोআक ष्ঢ आपॐोत१ करनॊ

Correct Answer :­reduce the conductor material and, therefore I2R loss /  ॏऺचॊलक ऺॊमঁॎ कख़ कम करनॊ,
और इऺ ঋकॊर, आई2 आर कॎ ऻॊोन कख़ घटॊनॊ  

88)

Question Stimulus :­

Electrical

Resistivity of electrical conductors is affected by:

ोशद्यॏ त  ॏऺचॊलकख़ ॠ कॎ ঋोतरख़धकतॊ ऺॕ ঋभॊोशत ऻख़तॎ ऻॖ:

temperature / तॊपमॊन



pressure / दबॊश

composition /  ॠऺघटन 

all of the above / उपरख़ঢ ऺभॎ

Correct Answer :­all of the above / उपरख़ঢ ऺभॎ 

89)

Question Stimulus :­

Electrical

Which of the following industries will consume maximum power per tonne of product? / ोनĀोल्खत
उĀख़गख़ ॠ म७ ऺॕ कग़न­ऺॊ ঋोत टन उĀॊद कॕ ोलए अोधकतम ोशद्यॏ त कॎ खपत करॕगॊ?

Zinc / ोजॠक

Aluminium / एĀॏोमोनयम

Alloy steel / ोम঒ धॊतॏ इĀॊत

Cement / ऺॎम७ट

Correct Answer :­Aluminium / एĀॏोमोनयम 

90)

Question Stimulus :­

Electrical

During no­load test, an induction motor draws power / कख़ई भॊर नऻॎ ॠ ऻख़नॕ कॕ जॊॠच कॕ दग़रॊन, एक ঋॕरण मख़टर ကॊरॊ
ोशद्यॏ त ঋॊĀ कॎ जॊतॎ ऻॖ

for core loss and windage and friction loss / ॿख़ड কॊऺ और शॊयॏ घह१ण और घह१ण ऻॊोन कॕ ोलए



for core loss and windage and friction loss / ॿख़ड কॊऺ और शॊयॏ घह१ण और घह१ण ऻॊोन कॕ ोलए

for core loss and copper loss / ॿख़ड কॊऺ और तॊॠबॕ कॎ ऻॊोन कॕ ोलए

for copper loss and windage and friction loss / तॊॠबॕ कॎ ऻॊोन और शॊयॏ घह१ण और घह१ण ऻॊोन कॕ
ोलए

only for the very small copper loss / कॕशल अĀ पौरमॊण म७ तॊॠबॕ कॎ ऻॊोन कॕ ोलए

Correct Answer :­for core loss and windage and friction loss / ॿख़ड কॊऺ और शॊयॏ घह१ण और घह१ण ऻॊोन कॕ ोलए 

91)

Question Stimulus :­

Electrical

In which type of bus the magnitude and the phase angle of the voltage are known? / ोकऺ ঋकॊर कॕ बऺ
म७ शख़Āॕज कॕ पौरमॊण और चरण कख़ण कख़ जॊनॊ जॊतॊ ऻॖ?

Transmision bus / ट३ ॊॠऺोमषन बऺ

Load bus / भरॕ ॽए बऺ

Generator bus /  ॠऺचॊोलत बऺ

Slack bus / धॎरॕ चलनॕ शॊलॕ बऺ

Correct Answer :­Slack bus / धॎरॕ चलनॕ शॊलॕ बऺ 

92)

Question Stimulus :­



Electrical

A starter is necessary to start a dc motor, because / एक डॎऺॎ मख़टर कख़ चॊलॐ करनॕ कॕ ोलए एक Āॊट१र आशĀक ऻॖ,
ভख़ॠोक:­ 

it is used to start the motor / यऻ मख़टर कख़ चॊलॐ  करनॕ म७ ঋयख़ग ऻख़तॊ ऻॖ

it restricts the speed of the motor / यऻ मख़टर कॎ गोत कख़ ঋोतबॠोधत करतॊ ऻॖ 

it limits the back e.m.f. to a safe value / यऻ शॊपऺ आनॕ शॊलॕ ई.एम.एफ कख़ एक  ॏऺरो঴त मॊन तक
ऺॎोमत रखतॊ ऻॖ 

it limits the starting current to a safe value / यऻ चॊलॐ करनॕ कॕ ोलए आशĀक ोशद्यॏ त धॊरॊ कॕ
पौरमॊण कख़ एक  ॏऺरो঴त मॊन तक ऺॎोमत रखतॊ ऻॖ 

Correct Answer :­it limits the starting current to a safe value / यऻ चॊलॐ करनॕ कॕ ोलए आशĀक ोशद्यॏ त धॊरॊ कॕ
पौरमॊण कख़ एक  ॏऺरो঴त मॊन तक ऺॎोमत रखतॊ ऻॖ  

93)

Question Stimulus :­

Electrical

Application of DC motors is generally restricted to a few load speed applications. It is due to which
of the following factors? / डॎऺॎ मख़ट १ऺ कॊ अनॏঋयख़ग आम तग़र पर कॏ छ भॊर कॕ गोत अनॏঋयख़गख़ ॠ तक ऺॎोमत ऻॖ। ऐऺॊ
ोनĀोल्खत कॊरकख़ ॠ म७ ऺॕ ोकऺकॕ कॊरण ऺॕ ऻॖ?

the cost of the motor is high / मख़टर कॎ लॊगत बॽत अोधक ऻख़तॎ ऻॖ

the problems with mechanical commutation / यॊॠोআक ोद঩ौरशत१न कॕ ऺॊथ ऺमĀॊ 

the maintenance problems / रखरखॊश कॎ ऺमĀॊ

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ



None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­the problems with mechanical commutation / यॊॠोআक ोद঩ौरशत१न कॕ ऺॊथ ऺमĀॊ  

94)

Question Stimulus :­

Electrical

The value of current at resonance in a series RLC circuit, is affected by the value of / एक ঒॑ॠखलॊ
आरएलऺॎ पौरपथ म७ ঋोतĀोन म७ ोशद्यॏ त कॊ मॊन, ोकऺकॕ मॊन ऺॕ ঋभॊोशत ऻख़तॊ ऻॖ

R / आर

C / ऺॎ

L / एल

R, L and C / आर, एल और ऺॎ

Correct Answer :­R / आर 

95)

Question Stimulus :­

Electrical

High starting torque can be obtained in: / ঋॊरॠ ोभक उৡ टॊक१  म७ ভॊ ঋॊĀ ोकयॊ जॊ ऺकतॊ ऻॖ?

slip ring Induction motor / ऺोप१ल शलयॊकॊर ঋॕरण मख़टर

squirrel cage Induction motor / ကरल कॕज ঋॕरण मख़टर

salient pole Alternator / मॏূ উॏश आशोत१আ



salient pole Alternator / मॏূ উॏश आशोत१আ

non Salient pole Alternator / गॖर मॏূ উॏश आशोत१আ

Correct Answer :­slip ring Induction motor / ऺोप१ल शलयॊकॊर ঋॕरण मख़टर 

96)

Question Stimulus :­

Electrical

As an energy efficient application, for what does the slip power recovery system fit well? / एक ऊजॊ१
कॏ षल अनॏঋयख़ग कॕ ॺप म७, ऺप१ण ष्ঢ पॏन:ঋॊ्Ā ကशĀथॊ (्ကप पॊशर ौरकशरॎ ोऺĀम) ोकऺकॕ ोलए अৢॎ तरऻ ऺॕ ोफट ऻख़तॊ ऻॖ

Squirrel cage and slip ring motors  /   Āक़ॏ इरॕĀ कॕज और ्ကप ौरॠग मख़टर

AC induction motor / एऺॎ ঋॕरण मख़टर 

Slip ring motors only / कॕशल ऺप५ शलय मख़टर

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ 

Correct Answer :­Slip ring motors only / कॕशल ऺप५ शलय मख़टर 

97)

Question Stimulus :­

Electrical

‘Crawling’ in an induction motor, is due to / एक ঋॕरण मख़टर म७ ‘ोशऺप१ण’ ोकऺकॕ कॊरण ऻख़तॊ ऻॖ 

Voltage harmonics in supply / आपॐोत१ म७ ोशद्यॏ त दॊब गॏणॊश॑ोĀ

slip ring rotor / ऺप५ शलय रख़टर 



slip ring rotor / ऺप५ शलय रख़टर 

space harmonics produce by winding currents / कॏॠ डोलत धॊरॊ ကॊरॊ उĀॊोदत Āथॊन गॏणॊश॑ोĀ

insufficient starting torque / चॊलॐ करनॕ कॕ ोलए अपयॊ१Ā बल आघॐण१ 

Correct Answer :­space harmonics produce by winding currents / कॏॠ डोलत धॊरॊ ကॊरॊ उĀॊोदत Āथॊन गॏणॊश॑ोĀ 

98)

Question Stimulus :­

Electrical

Two transformers when operating in parallel will share the load depending upon their: / जब दख़
ट३ ॊॠऺफॊम१र ऺमॊनॊॠतर म७ पौरचॊलन ऻख़तॕ ऻ॰, तब शॕ ोकऺकॕ आधॊर पर भॊर कख़ ऺॊझॊ कर७ गॕ:

alternating current / ঋĀॊशत५ धॊरॊ

inductive reactance / ঋॕरण ঋोतघॊत 

per unit impedance / ঋोत इकॊई ঋोतबॊधॊ 

efficiency / द঴तॊ

Correct Answer :­per unit impedance / ঋोत इकॊई ঋोतबॊधॊ  

99)

Question Stimulus :­

Electrical

Which of the following method is used for the precise measurement of self and mutual inductance
and capacitance of a bridge network with an alternating current supply?



ोनĀोल्खत म७ ऺॕ ोकऺ ोशोध कॊ उपयख़ग ঋĀॊशत५ धॊरॊ कॎ आपॐोत१ शॊलॕ ो঍ज नॕटशक१  कॕ Ā तथॊ अကख़က ঋॕरकက तथॊ धॊौरतॊ कॕ ऺटॎक
मॊप कॕ ोलए ोकयॊ जॊतॊ ऻॖ?

Three ammeter method / तॎन एĀॎटर ोशोध

Three voltmeter method / तॎन शख़Āमॎटर ोशोध

General balnace equations for the 4 arm bridge method / 4 भॏजॊ शॊलॕ पॏल ोशोध कॕ ोलए
ऺॊमॊက  ॠऺतॏलन ऺमॎकरण

Alternating current bridge method / ঋĀॊशत५ धॊरॊ ऺॕतॏ ोशोध 

Correct Answer :­Alternating current bridge method / ঋĀॊशत५ धॊरॊ ऺॕतॏ ोशोध  

100)

Question Stimulus :­

Electrical

A synchronous motor operates as a synchronous condenser, when it is ______. / एक तॏĀकॊोलक मख़टर
एक तॏĀकॊोलक  ॠऺघोनআ कॕ ॺप म७ कॊय१ करतॊ ऻॖ, जब यऻ ______ ऻख़तॊ ऻॖ|

operated at unity power factor / ऺमॊन ष्ঢ गॏणक पर  ॠऺचॊोलत 

under­excited / उĀॕजनॊ कॕ अॠतग१त  ॠऺचॊोलत 

over­excited / अोधक उĀॕजनॊ कॕ अॠतग१त  ॠऺचॊोलत

connected in parallel with condensers /  ॠऺघोनআख़ ॠ कॕ ऺॊथ ऺमॊनॊॠतर म७ जॏीॊ

Correct Answer :­over­excited / अोधक उĀॕजनॊ कॕ अॠतग१त  ॠऺचॊोलत 


